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Comprehension :

The following table shows the distance
travelled by a boat moving upstream (in km)
during five different days of a week from
Monday to Friday, along with the speed of boat
(in km/hour}), speed of strram (in km/hour) and
total time takem (in hours). Some data is
missing in the table (indicated as '-') that you
are expected to calculated, if required. Based
on the data in the table, answer the questions
that follow./FreafRaa arfere § TwE & uier
fafira faai War & ywan & <R fndt ama
T uWT Ufagher &0 it T8 g, HAT A i Wy
(fwft. e °), awr = wix (e g )
i FmEn W HW wwa (we ) yeivi §
aiferant # Fo s ('~ F wu A fafde) A
7, FrHas Iavaesar T34 W AR TiEe
YT It AT ) Tferant & iHS & IR T
S HaifE gy % 3w Al

Day-wise distance covered by a Boat and other
Details/Ta 0 fEA-ar 72 & 78 gft siv o
faem

Day/T&7 | Distance | Speed of | Speed Total
Upstrea Boat of time
m (km) | (km/hour}| stream taken
T~ A @&t | (km/ho | (hours)
wormer | W | wn)/ATRT | oRmEr
T | (PFRaft, | AR T Ew
(Frafty| we) | (Fasd. | wmm
/gy | (ER)
Monday 320 - 4 -
HER
Tuesday - - - 75
HIEER
Wednesd 270 - 6 -
ay/THER
Thursday - 11 7 -
THaR
Friday 324 - - 72
RIETILS

Note/AZ (1) Distance  Upstream = Distance
Downstream, if not stated otherwise
R-Sfge g = s gl R st =

2,

(2) Total time taken = Downstream time +
upstream time/SMEAT T F1 YHT = 3HdTG
T + Y-Sl THa
1. On Monday, if the difference between the time
taken by the boat to go upstream and to go
downstream is 20 hours, them what is the total
taken by the boat to go upstream and
downstream ?

WHEaR A I 99§ gA-ufaad T
IIYaE W W A T WA & WA 20 W
W I §, ™ N uW-yieed A
STIYETE A T T HA A0 fhan §7
(a) 40 housrs/40 52T (b) 30 housrs/30 %I
(c) 80 housrs/80 2T (d) 60 housrs/60 %21
Ans.(d):ﬂ'FlT:ﬂHaﬁTrﬁkamfhé,
famn &, 9RT 7 knvh B
T,
et e # 99 F A = (x + 4) km'h
g0 & gfags A8 & 6 = (x - 4) km/h
TYAIER,

320 320

x—4 x+4

320x +1280-320x +1280 _

(x—4) (x+4) -

2560

x-16

x*=144

x=12

I T TG

=20

20

=20

_ 320 N 320
(12+4) (12-4)
320 320
— —+—
16 8
=20+40
= 60 "UIT
2. On Tuesday, if the difference between the time
taken by the boat to go upsiream and
downstream is 45 hours and the downstream
speed is 24 km/hour, the what is the total

distance covered by the boat to go upstream
and downstream?




WEaR & /@ I U-RAEa e A9
A H T T WA & WA 45 WS H AW E
AW IWETE W 24 T g &, @ T g
- UiEE Td YA W § AT @
gl fomaett gfi?

(a) 680 km/680 ft.
(c) 740 km/740 f&dt,

(b) 720 k720 T35,
(d) 540 kim/540 T35,

Ans. (b) : 1 $ g8 x el &
WA T = 24 km/h
ur & Sfgd T =y km/h
X X .
22 48 e
y 24 @
X X ..
—+—==T5------

y 24 (i)

. (i) 3R (i) |-

2 120
y
x =60y & a7 Tt (if) § A W-
60y , 60y _ ;.
y 24
60+ 8% — 75
24
y=6
X =60y
=60 x 6
=360

A 5 79 FA gl = 360 + 360

=720

3. On Thursday, the difference between the time
taken by the boat to cover 'X' km upstream
and (X + 120) km downstream is 26 hours. Had
the boat covered the same distance upsiream as
downstream, then what would have been the
difference in the time taken?
THAR & A g X TR ar-wiage qur
(X + 120) fomft. argyae ¢t 7@ = T
T Aaa & &= 3T 26 2 {1 3R AT am-
yfge 3in sgyare sef € o = W, A
TR T WHA W R ot gar gan?

(a) 58 hours/58 ®2T (b) 62 hours/62 HT
(c) 48 hours/48 521 (d) 56 hours/S6 2T
Ans. (d) : 79 3R 910 $ Nagd el
T gl = x ft.
& g N % ST et T
gl = (x + 120) Ft.

1 ’
x_x+u0_

26

Ox -2x-240 ~2
36

7x — 240 = 26 x 36
=178 163

X= —

T =168

¥4 A gl = 168 + 120 = 288
4 18

4. On Wednesday, it the boat covered half of the

distance upstream with usual speed and other
half with double its speed and it takes

3
331 hours less time the usual time to go

upstream, them what is the total time taken by
the boat to go upstream and downstream?

FUAR @ A TG T aw-wiwge i w smen
ST WA T W AT 99 3T WRT 37O+t Tfy

@ I Wi o T R T o A wleger
W W T AT A9 @ ger J 33%?1’%5:
g ferar, @ W@ g gm-wieee @
JIYATE TN W F FRaT wHa wEn war?
(a) 128 hours/128 21 (b) 120 hours/120 ¥
(c) 108 hours/108 =T (d) 92 hours/92 =1

Ans, (¢) : AFT /G FH G T = x faet./H.
TR,
135 135 13§
x—6 2x—6 4
135(2x - 6)-135(x-6) 135

(2x-6)(x-6) 4
135x 135

23 —12x—6x+36 4
2x%— 18x + 36 = 4x
2x*—22x +36=0
X —11x+18=0
(x=9} (x-2)
x=9

T N GHE = U Jidge + 9N AR

270 270

AN

9-6 9+6

=90+18

= 10% fddt. /4,

4 18

5. On Friday, if the ratio of speed of boat to speed
of stream is 2:1, then what is the difference
between the time taken by the boat to go
upstream and o go downstream ?




IEFRAR W AfE T H A Ew O @ e w
U 2 : 1§, A T W aW-wiage e
YA W TR WY UHT & Wed ey fea
gm?
(a) 36 hours/36 921 (b) 42 hours/42 =21
(c) 45 hours/45 W21 (d) 35 hours/35 2T
Ans. (a) : TFT, 919 &l Td 791 9 & 9
THU: 2x T x F)
FYAER,
324 324
—+—=
X 3x
972+324 _
3x
1296 _
3x
Ix x 72 = 1296
1296
x: —
216

X=6
s e < 32432
6 18

=54-18
=36 °T
6. A kind of fixation with medium itself is

conceptualised as:/TAT & WY TH TFER F

A o Yohou-T fore B9 o @ STt §2

(a) Hypermediacy/afammeamea

(b) Immediacy/ahIfeTaRar

(¢) Media tendency/difean wafa

(dy Multi-mediacy/=g-ATeHA
Ans. (a) : 1590 & WY U YHR & AERE 6 Gheal
Ffemreaaar & ®9 § & S &1 SERh F Geheu A
& weg fiwdl st @l W Ffea ) @ @i & d
g el 3K R & o us AT smen 2
7. Given below are two statements:
faqmeafgume :

Statement 1: The quantitative content analysis
in Social science research is a very transparent
research method.

HAT (I) : AT g e O aftaromeres
Terrarareg fervorwur ue wiga araelt viver faftr )
Statement I1: The quantitative content analysis
is often referred to as obtrusive method.

HAT (1) : TRETOTES favea favewor g
T e faftr & w9 W wefide gier 8

In the light of the above statements, choose the

most correct answer from the options given
below:

I HAA & A °, Fror R g e
T ¥ T IUGTE I T TG R

72

72

72

(a) Both statement I and statement II are

correct/®¥A [ 3 e [1 &1 T&l &

(b) Both statement I and statement II are
incorrect/&e [ T HeH 11 T T &

(c) Statement I is correct but statement II is
incorrect/HdA [ TE 2, TlH Fed 11 7T 2

(d) Statement I is incorrect but statement II is
correct/HIH [ e 8, ARFT FoH 11 T 2

Ans. (¢) : G faga ww & oRammEs Reew
T ol Wy fafy # unedil swuem fafy g
frremu 20 e & Rw uw oEfem g weR
TE AR § oEifa @ sl I 3 R e
Va2 TR &1 RAIEe f-ag feder wg:
S Y fafr ¥ wu f 9fifs @@ 1 5 wew, g A
so TRl A frdmelt & afen & arfiga R
2 TR 47 ¥ 9% wY A WS A4 5 Ie-TY 35
= g ¥ off IURfiTET @) nnft faveiyor @ s wifET )
A 21 30: T 1 T § A FA 1 WA 2|

8. Given below are two statement with refers to
the different number systems: e

wnfaesi el A T fRu o § -
Statement/RTT 1 : (0.6875)y = (0.1011),
Statement/RdT 11 : (111011.101), = (58.625)y,

In the light of the above statements, choose the
most appropriate answer from the options
given below:

IWE YT F e #, e fau w famedt

T ¥ HEE ST I H T W

(a) Both statement I and statement II are
correct/FUA [ 3 ®9= 11 241 H&1 2

(b) Both statement I and statement II are
incorrect/HI [ 3 FH 11 21 T &

(¢) Statement I is correct but statement II is
incorrect/He [ T €, A Fu 11 7o 2

(d) Statement I is incorrect but statement II is
correct/HT [T 2, WA Fo 11 T @

Ans. (c) : BYT 1 (0.6875)0=(0.1011);
6875x2

375%2

75x2

Sx2

0Ox2
(0.6875),0=(0.10
3 FUT 1 T §)
F4911: (111011.101),
(111011.101), = 1x2° + 1% 2*+ 1 x2* + 0x2%+ [x2' + |
x 204 1x27 4+ 0277 + 1x27
=32+16+8+0+2+1+05+0+0.125
= 59625
3F: FEA 11704 21

il Bl e e

114
L )




9, In a factory, the average salary of the
employees is T 7000. If the average salary of 12
officers is ¥ 4000 and that of the remaining
emplovees is T 6000, the the number of
employees js:/fomeft '&F:FQ o SNl i aiea
e T7000 {1 A 12 stferenfiat @ shew aew
T40000 3R 9w FEwET @ i T6000 £,

N = W HE
(a) 402 (b) 404
(c) 406 (d) 408

Ans, (d) : TFT B 3% 9@ x )
ot # st & aftwa IaT = 27000
TEAAER,
7000x = 12 x 40000 + (x — 12) x 6000
7000 x = 12 x 40000 + 60000 x x — 12 x 6000
= 12 (40000 — 6000) + 6000 x
7000 x = 12 x 34000 + 6000 x
1000 x = 12 x 34000
x =408
r: HUTE T 408 21
10,

Which of the following tools can be used for
virtual labs and simulations?

fr=fafaa 4 ¥ R Wnm () =1 ST

TEjaTer yETITen qA v (RRvea ) %

forq forar T wrema §7

(a) Plotagon/@?l"‘ﬁ

(b) Wakelet/dsheiz

(c} PhET Interactive Simulations

deesdt seifaea e

(d) Flipgrid/ftrerafire
Ans. (c) : TmEgdt (PhET) I=wifed Rmeemq wem
(ZT) N STAN TEAST TANTINEN 1 TR (Rererg)
% for fomar o1 e @1 dra=Edl (PRET) sifows, wmm
fomm, it st s fomml & wBM ok frEm & fou
IR sTeia feiffes TR faRee @ 1 g2 2
duedd) ferfeea foqee s e oEYR W
smaia 2 sk oMl W UH TeW WA N amEr $
e § o FW £, TR BE gR o oi @9 &
meam dhad £
11.

Given below are two statements:
frFwaA R E -
Statement I: Communication is a social process

in which people use symbols to interpret
meanings in their own environment.

U [ : WUWW U G Witk § R
T 29w % A § aref feratror @A

Statement II: people and their intraction are
not part of the communications process,
because communication cannot be social.

FUT 11 : @ IR T9F e e
HowoT wfekan @ fgwn T gt § aifes |hmor
W AE g WehdTl

In the light of the above statements, choose the

most appropriate answer from the options

given below:

IUYE wmUT & A o, Hr fag e fawear

H ¥ ga® ITGR I AT RAC

(a) Both statement I and statement II are
correct/AReA [ 3 Ham [ 341 Tdl &

(b) Both statement I and statement II are
incorrect/®YT 1 3R Fe 11 341 Tea &

(c) Statement I is correct but statement II is
incorrect/®H [ T &, ©fE Fo= 11 7o 2

(d) Statement I is incorrect but statement II is
correct/®UT [ T 2, AfFT Fo 1T &

Ans. (c) : SIS0 U qfors Whar 8 frd @ e
=a % gaern § e it s % e sl @ s
A &) P uE e R 2 el U oy @S @
TIGUT A ? A T W IT GW B TGO B 2
T TR Sifad smoit & et &) A ek 3 e
TR e giver wihar o R ddt &, SEifs oo
UF qHNE SEEA 21 siNw @ wfE ¥ man 4
=G, TR ARG T T99 § Jeq 21 37 FH 1 §A
2, SEfF FuA 11 39T 2

12,  The standard coagulant in water treatment is:

el TR # WA W §
(a) Hypochloride/SRTFARIES
(b) Chlorine/FaEH

(¢) Aluminium/Tffaad

(d) Alum/fResd (Tam)

Ans, (d) : T WA F TS Whed el (TEm) 21
I e § a9 # arEifza @, Afaw g5,
freifee 2 sl s A B [ FEN &1 W R A
T uF fafie sevw ¥ o Iuge o W Seed a
2| Wes & &0 § 3097 R SM 9ol g9y $9E e
firewll, W Tohe, Hits FiEs i %iE wethe €

& forg weftenl o1 ST TR §

13.  Find out the correct chronological order of the

establishment of following universities in India:

wg & frefafen favafeest & @
T & FIAHATTER @

(A) Agra University/3TT fareafaarea

(B) Delhi Universityfﬁ('_vﬁ farvatamea

(C) Nagpur University/TMQ fargafames

(D) Andhra University/3=¥ favafyames

(E) University o Calcutta/®eie favafaamea




Choose the correct answer form the options

given below: /et feg T formeat § @ W@ I
& T FAT

(a) (B), (C).(A), (E), (D)

(b) (E), (B), (C), (D), (A)

(c} (C), (D). (A), (E). (B)

(d) (A), (E}, (B), (D}, (C}

Ans. (b) : WRA ¥ Rygfoaeat ©@ S e & e
fo 2-

Tagtraea TTAT

FHerha fqufae™ 1857

fooett faufaama 1922

AT faferrera 1923

iy fafermerg 1926

3 faufemeg 1927

14.  'Which of the following statements are true in

respect of communication?

wiwwr & wew # Pratafas § @ @9 | w5

w2

(A} Communicated meaning are always
ambiguous/AURA 21} wiw T T §

(B} Words are symbols for concepts
I STaUTUTA % Wefieh 2§

(C) Labels may be ambiguous
TAA T T WEHA

(D} Symbols are usually understood within a
group/yeies wmTTa: Rt wgE % ofi
A A ¥

(E} Sharing of meaning is not possible in
communication

wywor o eref W T gwa T
Choose the correct answer from the options
given below: /et feg T forereal o | TE I
HT I FNW
(@) (A), (B) and (C) only/%ae (A), (B) 31 (C)
(b} (B), (C) and (D) only/F (B), (C) 3R (D)
() (C), (D) and (E) only/%ad (C), (D) 3 (E)
(d) (A), (B) and (E) only/%a (A), (B) 3 (E)
Ans. (b) : FHY0 AW & AT o0 §) WM F T
fopar o T @ S el ¥ EE-NEE ¥ Hefta 21 39
FRE-EE & oW A 3 R, aeed, geend
TR g 7 WEAn § wE ww # g & fEw &
0T &0 § | T & day § fefafad s aw §-
(B) Y= sraamunai & S 3
(C) ¥ TEqE & g F
(D) i wm=m: Feh o & i el 9a §

15.  Which factor plays a crucial role in creating an

effective learning environment ?

frafafga & @ I9-W e Tyt
SR STaTaRerT giaw A B Wyl Wit
Tersmar 32

(a) Teacher's qualiﬁcationfﬁ'lﬁ ST

(b) Availability of instructional facilities

ST lawnsi # Suem

(c) Focus on foreign language use
faelt w1 & WA W wE

(d) Admission to students from elite class

st o & formfefall Y s

Ans. (b) : SFRYIE JRst 1 IwemE U wWRR
st g gg &9 8 nEEt e e @)
T Afepm e 3R WReA & afSl & gl Fa 2,
Tl ® 3T WU % drgq sl ke fawm f ofgg s
[ i war &1 T s s Fve ®@ 99 @
¥, For afes 9 fmn siik fven % fr 39% Tww i
W FENEAS TG TS 8| SRS grewnsil B e,
it 371 WE % w9 § oftwie fe 9 8, R swEm
T ®Y ¥ fqafamem $ ont @ ofwafis Fiw 1 &
v O T 9

16.

Consider the following Ms-Excel work sheet:

TrafafEa Ms-Excel @ viie W Rrem #Hifm -

A B C
1 Month/ATg Number | Payments (in
of classes | ) made @
taught | 1500 per class/
UeTE W | gk el
HAR | 1500 TUX F
@l T | e & e
T e (I
H)
2 | January/SHedt | 20 30000
3 | February/®iadt| 14 21000
4| March/mrst 17 25500
5| April3te 13 19500
6 May/a3 12 18000
7 June/S[H 15 22500
The wvaiue returned by Funclion/eei4 =

SUMIFS (C2 : C7, B2 : B7, ">13", C2 : C7,

*>22500") is A WA A Y :
(a) 78000 (b) 76500
(c) 99000 (d) 55500




Ans, (d) : SUMIFS a9 &I {79 Syntax 3 2-
SUMIFS  (Sum_range, criteria_rangel,  criteria)
[criteria_rangesm criteria2]...............)

IWE Syntax & STER, ¥ H Rem m dA =
SUMIFS (C2 : C7, B2 : B7, ">13", C2 : C7, ">22500")
¥ Ffem I B2 : B7 F criteria ">13" @] $H R IH
FOW: 20, 14, 17 3R 15 7 3R 9% T@E & oW
FHW: 30000, 21000, 25500 3T 22500 2, Fafh Fem
™ C2: CT F criteria ">22500" T FH W F C2 :
C7 & WA FHW: 30000 3 22500 W FEH 5000
% Sum TS TRUTH 30000 + 22500 = 555000 M

17,

Consider the followin
diagram:/

foree S -

memory hierarchy
T

Hifers w2 =iy
/ 11
/ stz faen it \
P \

Which of the following memories
represent L, IL, IIT and IV (in that order) ?
frrmferitan & @ F- T8 A-D (S H)
I, IL, 11 38R 1V =t Touidt &7

(A) Magnetic Tape/Tea 29

(B) Magnetic hard disk/J=® &2 5=k

(C} Random access memoryﬁ@'q g U

(D) Processor registers/MRe oy

Choose the correct answer from the options
given below:ﬁamwmﬁﬁ‘ﬂﬁw
HT I FNW
(@} (D), (C),(A). (B} (b) (A). (BL{(), (D)
(¢} (B), (C), (D), (A) () (D), (C), (B), (A)
Ans, (d) : IO 9O G § A9 A-D SE R ) 1
1L, 1 3R IV &1 ot s fore 2-
D>C>B>A
(D) Wi wed- ShE e (ddg W) 32
W S WA $ TE DR TR A Y US S
T G H 9W 21 uF e § uE
T WSRO U o Rl off SRR s g2 8w 21
(C) ¥ U™ At (RAM)- I8 UF YHR H TFEE
2 =R 7)1 W feamw & 3w Feee fawew #
T ARl % W R oo @) W omw afer
ol 21 o' T f/Tee Wl g, o e s
mfF 2 H Widh 9 £, ofe O g & 9
W 3T ¢ & W2

\

sfd fag wrma # g2
sifivm w9 § 3

A-D

(B) g e fomk- doan fem U siEnm
3T B, W 2T ® forEA, T foEd ik wHE
FA % fo e whwan & 3w w )

(A) TEaE U- FEEE 29 A ¥R & 21 &
S YER W s wvenor difga v wfae =

feve g=a & faulia = o e g S 2

18. Which of the following statement is logically

equivalent to the statement-"All reactangles
are polygon"?
# q B W FeA AfdE v A 39

FHUT & TAGR - A A agA 772
(a) Some rectangles are polygon

T ST FE 8|
(b) No rectangles are non-polygon

T ot T R-age T 2
(¢) No-non-rectangles are non-polygon

FE oft s H-ag 78 2
(d) All non-polygons are rectangles

ot f-agw o

Ans, (b) : “F ff 3w g T8 2 T afdw
w1 i W S 817 T FAF F A o
R & 7 fftad 8-

* TR ol & & AL

* fyefiq et que w8

* Tr Hon Bt 90° % #)

19,  Which of the following pairs of elements is

most important for eutrophication process?

frofafes & € -8 7@ & gm gua

% TRItRohyT ) Witk & T waifires weeaguf

?

(a) Calcium—magnesiunﬂ%ﬁ'ﬂ'ﬂ'q-ﬂﬁqm

(b) Nitrogen-phosphorus/ AR ISH-HRETH

(c) Nickel-cobalt/-AaI-Fiamee

(d) Iron-copper/ATaH-HIT
Ans, (b) : TRITI-BEERY TH [ (FH(hHT)
ke & foru waiftes wewqul @1 9 I fema 39 9
Al ¥ e 9y d €, d oifvs e 49 & e
# g | e, was o o o we % e @
ga # wafma & S 31 gofee @ wiE @ R
U e A O Tl O i 9gg 8 S 2|
20.

Given below are two statements:
farwaafgmm e :

Statements I: The Richter Scale measures not
only the intensity of earthquake itself, but its
impact on people too.

AT 1 : oY Thee hae Yo W Amar &
AT AT ¥, At @ W 3EE gE @& ot
AT T B




Statement II: The modified mercalli scale FEda I ToTeaS
measures the earthquake in terms of energy A WA F HES
released. i

. T AeTH FH
FAT 11 : SR (WIEERET) WEe @& e e 9 3 iR
w1, Fdvs et & 'w # e f) S & s
In the light of the above statements, choose the T T H e
most appropriate answer from the options s 1

given below:

ITUTE FAT F eH W, e g o frwent Cookies/Fas 3. Soﬁ\;arg, ﬁrmwire
o & SAYh I AT =TT aﬂﬁ‘q: ::):eatezr a‘:?lrerunts a;
(a) Both statement I and statement II are virtual ~ machine/

correct/®HaA [ #T Fo 11 SF1 T&1 & TR, w41
(b) Both statement I and statement II are TEIR W I

incorrect/®4H I 3k Fo= 11 3 Teia & udia gfm wwar @
(c) Statement I is correct but statement II is Ft gfera & 21

incorrect/&H4 [ T &, A% Fo 11 7o &
(d) Statement I is incorrect but statement II is

correct/HAT [ Tod &, wifehd %9 1L 981 &

Pairs of files stored
on user's computer
each pair contains a

Hypervisor/@lzmaial | 4.

Ans. (b) : feX @ gdu F dma F 7= F fg pﬁ:’l;lfe key and
W A S ard e % & A oRera Rear o haysri 3
TFM &1 3 FW F fHen el S0 & 4 aoe B IR | e
S &1 e el ared witw e ¥ 1935 # wel ® g,
figer @ ® v e faer e & @ Ao - T #  wdete
10) T H A F| HET ARG WhAT W IWEA sk fell g
EW A IO I H Ao a9 § e oS ) a2
Tl Tl B qIEll % . Wl 4 sfewied fhar a1 Choose the correct answer from the options
Th WAT § 9-FEE H A F F T gu s given below:/A=t fau Ty fo=medi # & W S
T fARTEAT A = TR W
21. Match List-I with List-IL:/ geft-1 % wmer gef- A B C D
11 =1 firer @it @2z 1 4 5
w1 4 2 3
List-1/g=i-1 List-T1/g=h-11 2 4 | 3
(ICT term/3EHEUR) (Defimition @3 4 1 2
rafsTTEm) Ans. (¢) :
Firewall/®raard 1. | Used to remember i1 T=ht-11
user's preferences amdHdae gfrann
each time they visit ( _ ) _ ( _ ) _
websites. THrAETe 2. | A A WA S T
W AR AR W & FERL IR T EECE
TR WS @ qeg fRord @i @ S seed §
THE & AR WH F AH-SH At eel & fheet
o wg| & 2|
Digital certificate | 2. | Hardware or ||| fefSea yamoma | 4. | swEmEdl & FERR W el
ISECA LI RF] software that site FEAl ok g YAd g OH
between user's grewfas Foft s fash Foft
computer and an a8 -
external network, —
which filters data ||| F0 L. BI\ SR m\_ qc S ti{
coming to and from YA 6 THE B AR W b
the computer T ggwh 1




ERICIEE 3. | oiweam, wHOw A1 FEIR
3 arferd s 2 |
22, Which of the following measures would be

useful for commenting upon the degree of
asymmetry in a statistical distribution ?

T wiftaa e @ swawfafr s fof &

wey # feopft & & fou frafafges @ @

A W ATT ITAEf Fm?

(a) Central tendency/&=k wqfd

(b} Dispersion/TReraur (fegaia)

(¢} Kurtosis/dshdl HHI

(d) Skewness/ATHg
Ans. (d) : f5 wiferm fomm & srgfufy & ot &
Hay # ol @ & forw e A swEe gm avE
% UM W A8 T owaw & fF Ru gu aRawar deq %
JHARA 6 T i @ § fha sl )
23.

Which of the following universities in ancient
India had six colleges each under them and had
a let of exchange of ideas between them ?

i amm ® Proafaflas € @ @ @
fayateemaal & vs & onfw =% =fow &
3i 3ok wfrer fremit @ wgA STEH-wEE gen?
(A) Sridhanya katak/gfiem=r ®e®

(B) Nalanda/ATeaT

(C) Takshashila/asr¥rem

(D) Vikramashila/fasatyreT

Choose the correct answer from the options

given below:/r=t fag my o "yl I

w AT FA

(a) (A)and (B) only/Hdaa (A) 31 (B)

(b) (B) and (D) only/%aa (B) 3R (D)

(c) (C)and (D) only/%da= (C) 3 (D)

(d) (A)and (D) only/Had (A) 3R (D)
Ans. (b) : W9 aRa # A R iy i
% y2% & onfiA B8 wioe 2 it % 8 fEm @
T FEAE-TEA g3 GHE FATE FUW A 450 €. F
i faufaamea & o FEE f yEE @@ § )
wag =g fufimern @) e Rufrre ey
fergfemmmer an| TR TAI9T Fell H AT A 11 A=
faufemem = 1193 €. o Ifigar faosh & 30 98 W
fan o1 e g9 & weS yHuer I 8 T # fER
¥id % AT H it R @ e SEe
T ATl faufaaed & oy we S 81 fasafien
faufgmem 4 d@ig v wd 99 & arfafw ==, da9e
Td ST H ff AT I @ 4T

24,  Generally cyberspace is compared to a type of

electronic .ueiiiiiens +

TOTEA: OEEWE wm Ol TH WER h
EGECIEE] o F e £
(a) Screen/Sh

(b) Exhibition Room/S&vi-i-H&

(¢) Compus/IRFT

(d) Open Space/&G<l T
Ans. (d) : Wmaﬁmmaﬁqﬁmmm
& ame 1 UF scdcfd.IHCh leuﬁﬂ?ﬁﬁwéﬁmﬁlﬂ
WM AR YOR & YAusS & fag e s
& WHE: W WY ) o U S & qAag i g
W{()pmbpaae)ﬂﬁmglq’s’m&%‘ﬁﬂﬂﬂgﬁ
VAR WeH & 2, foud R @ o fafve fawa eEt @
TR SR AW o g e @ e g
I 3R et § gfg 2R
25,

Given below are {two statements;
o @t wew fRm T ¥ -

Statement 1: Photovoltaic
Alternating current (A.C.).

HATL : WS gt e (. )
I W E

Statement II: Photovoltaic cells are exposed
dlrectly to the sun, therefore as temperature

rises leakage across the cell increases.
wAT 11 : té'aﬁéﬁm U ey gawroT () ¥

Igfua e §, ot areme ° giig g €,
9 97 & 3-UN faa 9@ AT §)

In the light of the above statements, choose the
most appropriate answer from the options
given below:

IUGT wUT & AeE o, e Ry W et
T | gEW IUGE I & TG A
(a) Both statement I and statement II are

correct/&A [ 3 Hoa [ 341 Tdf 2

(b) Both statement I and statement II are
incorrect/®y [ 3R He= 11 AT T 2
(¢) Statement T is correct but statement II is
incorrect/®yA [ TEl 2, wlHT T 11 7eia 2
(d) Statement I is incorrect but statement IT is
correct/Fe 1Tl 2, & Fo0 1 T 2
Ans. (d) : BREES o S99 90 399 & 2
BeEee s Ta We yehr () ¥ Igfed @ §, o
V@ A ¥ gfg o 8, 79 Ud % SR-UR fEg a7
S &1 BielaicedE ge # 3uEN def & 9 & &
feru fopan s @, el @1e # swam & forw gndia R s
e 21 Y faeelt 39 &9 & fou wREeRES
HIFYTHIA T e § UF Qg ST @ 2|

gy
FAIN

cell produce

e b chatamaned
Given below are bwo statement:

faAsgafqm s :

Statement I: The proposition "The hill has fire
because it is knowable" commits the fallacy of
the irregular middle.
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HUA [ : 36 wlagfa “'ugrdl w s § w=ifes
g 7 7 O arfrafia e @t aEaw #)

Statement II: The proposition "Sound is
eternal, because it is audible’ commits the
fallacy of the irregular middle.

FAT I1 ; T Wil afy yvaa §, s=ifE
g AT ' W STt We & 9% 9N 1
In the light of the above statements, choose the

most appropriate answer from the options
given below:

ITgH AT & Iw #, e g frweat
T ¥ T UG I T TG R
(a) Both statement I and statement

correct/HUA [ 3T F 11 T T 2

(by Both statement T and statement
incorrect/® [ 3T FeA 11 AT Tora 2

(c} Statement [ is comect but statement II is
incorrect/&H4 [ T &, A% Fo 11 7o &

(d) Statement I is incomect but statement II 1s
correct/H9 [ ToTd 2, WIfehT T 11 7t @

Ans, (a) : T gl “Tgll W 3w &, wHiE w19
217§ wfraftm oo @ T 3w 3 @ gaefa el
a4, Fifh T8 w7 2§ sitEfm v w1 a2
21 oAl 3R HA-I G g §) T W) O# s
fergtommd &-
* T 39 Wl TS e H ST 3 W,
fo i TE 1T ufem 2, e & fau W g
¥ ot A 2, SuE gt T e e
* 9@ 34 Wi THEUAE IR 0 IR B ALY
foril W W iR 3 SEww ¥ fe R ww A
o e 2, 3w gait i @ 2
A car starts running with the initial speed of 50
km/hour, with its speed increasing every hour
by § km/per hour. How many hours will it take
to cover a distance of 630 km?
% W 50 famdft. a2 &t amifass nfy @ seaw
ot wfy W W U 5 fedt. AT WeW g
=t #1630 frfi. @l g T wRe O 3@ fRaw
e TA?
(a) 7 hours/7 a1 (b) 9 hours /9 21
(c) 6 hours /6 =1 (d) 8 hours /8 H2T
Ans. (b) : SR B T = 50 km/h
37 HR AT T F g U0 F Sknvh LT FFA 2 7,
RS g0 7@ # R g = 50 km
2Mgue § 7 3 W gl =50+ 5= 55km
v ¥ 7y W gl =60
4t gud # 77 i E gh =65
stegud f 7w F W g =70
e § St M =75

II are

II are

27.

7have § 7@ A R @ =280

gt v & 7 5 W gl = 85

9" gue | 7 & 7 g =90

ouve § 7 A T FoT I = 50 + 55 + 60 + 65
+ 70+ 75 + 80 + 85 + 90 = 630km
37 WE § & 630km gl 7@ F §9 wve i)

28.  Given below are two statements:

EIEE U DERTL R

Statement I: Financing higher education in a
country like India depends upon availability of
resources and other financial implications.
HAT 1 : WA 9T 97 | T RTeI T Rrararam
HORET T ITESET v et fasim ffgarat
T Feredt T R

Statement II: According NEP 2020, funding
and financing of higher education will be
carried out by the second vertical of Higher

education Commission of India i.e. Higher
Education Grants Council.

T 11 : T e Hify 2020 & sEER,
Iouran orar @ frfra we fasfae a/a &
Foae e st & gt i avafa ==
ram e wftwg 3w fwar e

In the light of the above statements, choose the
most appropriate answer from the options
given below:

I HUA F A °, o Ry T fameat
T ¥ HEE ST I W T W
(a) Both statement I and statement II are

correct/HIT [ R FHa [[ 341 T 2

(b) Both statement I and statement II are
incorrect/®IT [ 31 F 1L I Te@ §

(c) Statement I is correct but statement II is
incorrect/HY [ T& &, AR FH 11 7o &

(d) Statement I is incorrect but statement IT is
correct/BIT [ TeM 2, T 9 17 2

Ans, (¢) : 973 S8 29 § I foen &1 fa9 9o S
F ITce MR s faeig fafgael — fasie w21
T & gea o & faw 9w % g din § 5wl o,
T Pl & o, SEE W, 7W, difE STt o
et €)
T fren ifa, 2020 $ AR, IR e 3 fafe
wd foddem ¥ fu aredta 3=eR e s (HECT) 3/
Ioam oy S1EH UReE H e fR SR S aRe
THES § ER W IR e F Wi siv e g
w1 FE R S e s 5w st pp sk
0% fFaags & Siw e T sAia wmita 21 s
WY 2 % F99 () T & SAE FA (1) Tew 2
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29. In the context of a published research article,

DOI stands for:/fHHT WERida VT e @ &
wed o Steend (Dol W A e §
(a) Data object Integration/S21 3Hasige FETH
(b) Digital Object Identifier
fefrea sifaae amge<iwr
(c) Data Object Interface/22T sfasiae T2THT
(d) Digital Object Interface
fefiree sifemiae 0w
Ans. (b) : TRIRT MY 7o & W=of & damsmg (DOI)
1 i w7 fefiea sisae SWEIHR (Difital Object
Tdentifier) 2| DOT TEatl, el iR vl 3 w& 2
2 foem Iw@m o @9 w cmmEw W faftw wu
TEEAA 3 I TH WE 99 U (URL) Y 3 &
fem fn ST &1 DOI & 2N UBS i 350 § e
W FEEN G G W T &1 sifEse fogr #§ s
@@ § DOl &I ol & g AR W B g8 W FH
a1 WiE & Hig @ o o @ 9w & o g e
T B
30.

Which of the following Open universities was
established in accordance with the National

Education Policy, 1986:/Amfafaa & & #4-
w gk Tavatoer wia fran Hfify, 1986 &
AR Tnfum femam T ar?
(a) Dr. BR. Ambedkar
Hevyderabad
2l f.aR. amegaR favafaacy, des
(b} Indira Gandhi National Open Umversity
Delhi/3fen 1t T g fareafemmer, fReh
(¢) Karnataka State Open University, Mysore
Frfess T Th fvafmem, #R
(d} Yashwant Rao Chavan Maharashtra Open
University, Nasik
IYET TF T RAE e fediamed, TiEs
Ans.(c}:W#ﬁﬂBﬁ?’qmﬁaﬁ?mﬁﬁﬁﬂ
®Y ¥ " afeensli, seEfa Feered s segfw
S I & fou s oEm & TEd F R faum
AT A
i A 3 Tl el ® SR M & o “HiTE
mFae A R @ A 3 iR o e e
frafyraa & o ‘Sivm gfEfd sl w1 R
femam |

Open  University

T fagfemea TG oY
Tl dlam. s g% fufae, 1982
R (e Th

[ERIERIREY
Fau M T O g, el 1985

31.  Which of the following statement are so related

that they cannot both be true, nor can they
both be false?

Preafafea § ¥ S9-% S99 30 T @ dag §
fe a I o 9 8 aa ¥ w3 & 2=
T B WA 87
(A) All mammals are vertebrates
T4t O wEeE )
(B) Some mammals are vertebrates
IS T HIESH
(C) Some mammals are not vertebrates
TS WA HoeH T §
(D) No mammals are vertebrates

FE ff TR FeER T 2

Choose the correct answer from the options

given below:/~=l fou 7o fawedi & @ wd I

& =T HAT

(a) (A)and (B) only/Fa (A) 31T (B)

(b) (B) and (D) only/&ad (B) 3 (D)

(¢} (C) and (D) only/&aa (C) 3T (D)

(d) (A) and (D) only/Had (A) 3 (D)
Ans. (b) : &1 T T (B) ‘T WA I § q4
FF (D) ‘TR W T FIwSH T 2 W @ A Hag
tfFadHism A aagdaRId I smm A
TE9 &1 o 9% (b) F9 R
32.

Political stability is indispensable to economic
progress because economic progress can only
be achieved by means of political stability’.
Which informal fallacy is committeed in the
above statement?

“Trfeer ferET anfiies wmifa & fog safigrt
¢ Tfen anfiler wifer Shaer Tetifae flerat &
T/ f Y F A TRt {1 IudR wem
H BE-11 ST Teha §7
(a) Slippery slope oo
(b) Red Herring/9m1eh Tha (3T 2fm)
(¢) Hasty Generalisation/3Ta=ita |mm=iao
(d) Begging the question/3TTHT GiL)
Ans. (d) : Tordfoss fean anfdfe wfa & fow, swafigrd 2
wifs sl wfy Fae Usfs feowar & Wue 4 &
T H ST Thell 31 FO T STee™ 29 31 Seed Oy
TH U T 2 o 2 S 79 30 AW @ oW ey
IR areE ¥ uge & & fARa & #)
33.

Given below are two statements:
farwaafgm e :

Statement I: Communication cannot reflect the
cultural conduct of people.

HAT | : TUNUT AN & TIGHaE JATSNOT &Y
weita T = @ ¥

12



Statement II: Communication is a practice
integral to formation of social life.

w1 ; HUEw qraneTR Stae % e &
for wen siasa w1

In the light of the above statements, choose the
most appropriate answer from the options
given below:

ITUTH FAT F S W, = g frwent
¥ W ITGR I H AT RAL:
(a) Both statement I and statement II are
correct/HAT [ 3R Fa9 11 1 T8
(by Both statement T and statement II are
incorrect/®44 [ # Fu4 11 241 7o 8
(¢} Statement [ is correct but statement II is
incorrect/®aA [ &l &, wfha Fa= 11 7o 2
(d)y Statement I is incorrect but statement IT is
correct/HAT [ ToTd &, SR e 11 Tt
Ans. (d) : SS90 7T F im0 § o & g @ o
ol & S Wt O # wmd §) AR v o e &
OF e o T & o Rl % seE-RE § deie 2
T UF e AR ] 3 3 s woit ¥ wv §
faafm & oo Afad aEvEaEm R 3 TS
St % fmior &1 w2 wHEn & g} € oee gue S
e 5 TG a9 21 30 SIE § AT I &
FIN T H T TEA 21 TEw G S v § @ art
Wi F @G, WH-9F, AGR-FGER, I 9IS,
ieplad SmRm onfE F i T 2 om: Wy 2
A (I) T & 71 F 11 T 2)
34,

When students, who have learned to type on a

typewriter, transfer this skill to typing on a

computer keyboard, it is an example of
learning?

“fo fammide 3 TEUOEET WO &

g ¥, T A TW R F AT HEE H

A T ZEw F & R w4, @ a e

VeI 3 JTfErT o Serevr §7?

(a) Far-transfer/30-37T01

(b) High-road transfer/Se3-A1T 30T

(¢) Near transfer/fhe I

(d) Low-road transfer/fie T aimor

Ans, (¢) : RBF frenffat 7 eEwmEer W 0w g

3, W T W NG F AT FER B A W IFW

T F A0 W ¢ @ 3@ T simw safem &1 JemeRm

g 21 free sfmw 9 Rufdt @t defifs o= # ot

dhg a1 Hed A STHE e aHE A 2

35. Identify the software that world be useful for

statistical analysis of data generated in a
research study:/fwEt e stemam o wfw

Afwet & wiftmaa fasoww & v su=nd
AT i T i

(A) SPSS/TEfiTaTH

(B) Ithenticate/3Mgdfeeha

(C) MINITAB/f T

(D) R/3R

Choose the correct answer the options given

below:/ﬁ%ﬁqm{ﬁwﬁﬁ@”ﬂﬁww

== HIA -

(2) (A), (B) and (C) only/&ad (A), (B) 3 (C)

(b) (B), (C) and (D} only/&Had (B), (C) 3 (D)

(€} (A), (C) and (D) only/FaA (A), (C) 3 (D)

(d) (A), (B) and (D) only/3ad (A), (B) 31 (D)
Ans, (¢) : Tifemaa favermm g faht o & Rt it
e & fr, 3 & R et & i wghw @
T &, Hitestd e fasitd w0 qu gaeor aii
WY e S feoTed & § W & &1 SPSS
(Statistical Package for the Social Science) RATH
(IBM) Fmiwm g faffa, s fafes & o
faafid sm (R) 09 @ 3R w8 FAeA v
THE (MS-Excel) "B gm fasfm wifem
fyromu Tiwee=R 2, SWfE 2mgdfEHhe  (iThenticate)
g & i Tiedtsl, s o faE gu akfes
I F A A el TF T 2
36.

Given below are two statements : One is
labelled as Assertion (A) and the other is
labelled as Reason (R):

T owew g mm ¥ = afimew
(Assertion A) % w0 ¥ faflga ¢ @ gw0 @S
&HRUT (Reason R) FHETH

Assertion (A): PM,, is preferred over Total
Suspended Particles (TSP} for air quality
monitoring studies,

FARHM (A) : TG & TUET F FERE T
st & fau oo fefas s (Foad) =t
T o (i ), @ argar € A )

Reason (R): Particles larger than 10 micron are
better indicator of potential health effects of
particulate air pollution,

HA (R) : 10 TR | 93 &0 fafaw arg
WIEU & W e WTEl o JEe 9
£

In the light of the above statements choose the

most appropriate answer from the options
given below:

ST FYF & A o, Fror fag e fawmear

HH gl TGH I T TAT B -

(a) Both (A) and (R) are correct and (R) is the
correct explanation of (AJ{(A) 3R (R) 2t
e 2 A (R), (A) T T = 2
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(b) Both (A} and (R} are correct but (R) is not the
correct explanation of (A)(A) FR (R) G
@ 2 3R (R), (A) W T e T &
(¢} (A)is correct but (R} is not correct
(A) T 8 A (R) =&t 78 &)
(d) (A} is not correct but (R) is correct
(A) T T ¢ i (R) T 2
Ans. (c) : ag F T W AT 35 seEE & fag
1 faeifea @l (TSP- Total Suspended Particles) 3
T ® PM,, ® aftgm & o & #Ebi% PM,, 10
TIZehiMIed a1 309 7 9 a1 fAcifsd 988 Bi ®0i &
JUIA A @ Sl ‘TSP 100 WS a1 39 &0 =™
I Freifam 00 & aU S 21 A T (1) TS 3
10 TEHA ¥ B¢ FU1 fafaw an] g $ Hifad @Reg
T % e Y9 od & it 4 34 B2 8 ¢ 5
T, A% ¥ 2 U hHEl § 9w W 90 § o wre
R TR A T 110 UREEA ¥ 9 FU AR W
AE R W Y9 H T8 e 8 g
37.

Given below are two statements:

et 3t wuw fRm o €

Statement I: Google is a web search engine,
while google chrome is a web brower.

FIF 1 : A TF O T 39 § Falew et
Y AT JETT Y

Statement II: Microsoft edge is a web search
engine, while Microsoft Bing is a web browser,
T 11 : NEHEGE U TH A wd o §
wafE TR T uw 3w e f)

In the light of the above statements, choose the
most appropriate answer from the options
given below:

I HUA & areies W, fer fag o e

o ¥ 89 3G I B TG WA

(a} Both statement I and statement II are
correct/FAA [ 3T Fa4 11 =41 w&1 2

(by Both statement T and statement II are
incorrect/®4 I 3R & 11 AT Tea 3

(¢} Statement [ is correct but statement II is
incorrect/®a [ Té &, AT Fu 11 7o 2

(d) Statement I is incorrect but statement II is
correct/HIT [ T &, WA FuF 11 98 §

6 T M (Duck Duck Go) TUWa FHIT

uShITTeE fom TRSAAT BRR Hie

aRE (Baidu) Sen

piEsa:| (Yandex) T TR
JERSEHT (Ask.com)

TR (ECOSIA)

3: fén ma wY (1) ¥ & S|l HEA (1) 9 2)
38.  Which of the following correctly represents the

meaning of the abbreviation "vide' used in
academic writing?

freafafea o oS- v AEEites v o
T ‘I (vide)' Thw & ored W wlH
wiafatira &t §7
(a) Against/foFg (b) Width/<teT
{c) Refer tordzy {d) Namely/-Hd:
Ans. (¢) : ‘Had (Reference) V&8 RS oigd §
yg @ (Vide)' Hrw F a1 v wd shifafee Fwar
21 I vsE 3T 2|
39.

Which of the following is the driving force for
students’ commitment, engagement and
persistence in self-directed learning?

w-Frfya sfrm & uftr fremeff o wfamga,

werm it st & e fratafes @ @

W-TT 9T FA §?

(a) Fixation/sTHfH

(b) Motivation/3ersTon

(¢) Metacognition/3TEE

(d) Assessment/T eI
Ans. (b) : T-FERE afirm & wfa feemefi 5t wlomga,
Her AR aegeaE & T ‘afnor o W 99 £
AR U A Afine @ e siftrm wfE s
TS IR § 937 wEd &1 39 shmRs @ AE
a7 Al I T I gAE T F FA B TEE FW
2 15 3 oo B 31T % oW @) 99 § ] &
AR vfe adt & & WOt S Rl R R % w0
F T & fom T S 21 I & =5 & FEER
ey frdfer a1 @ arafq SPBRT sraeR @1 @ 7w
WY T A ILYF A & A A IW IRV H AT &
o e 7 yaEE €

Ans. () : 9 I 3R 39 TSR q¥ T § STET-3
st @ 98 99 399 e R B A I e
F forw Iwgm far s @ adf qEh 9k 99 R @
IPET 99 U 3R HTML %iEel 7% 98 & o fogam
ST 31 39 YOE T 9 3R 39 IR Freff -

a Fo AT TSI
T (Google) T HH
T (Yahoo) ARHEE Y

40. The sum of three numbers is 124, If the ratio
between the first and the second is 2:3 and
between the second and the third is 7:9, then
the third number is:

= et @ AT 124 %1 Ay ugelt i gt
T & i T 2 ;3 § A gt ofiw fad
% 3= orguTa 7: 9 ®, A Fwdt v ¥

(a) 48 (b) 54

(c) 64 (d) 66
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Ans, (b): fm &

i et 1 A = 124

JEAER, [ I=[2:3)x7
IM:II=[7:9]x3
[:II:1II=14:21:27

HT, U, gHE q9T e e HEEn

14x, 21x, 3 27x B

l4x +21x+27x =124

62x=124
x=2
a1 A9 9= =27x
=27x2=54

41.

The cost price of an article is 75% of its
marked price for sale. How much percent does
the trades man gain after allowing a discount of
15%7

et o = WTE U gt R & sifem

TeT W 75% ¥ 15% W YT I F g

R =R foRa= AiawTa &t & ZRm?
(a) 20% (b) 13%%
2
(¢} 10% (d) 155%
Ans. (b) : 7T, 3ifdd 777 =100
75
Exi =100 x
K 100
=375
15
fama =100- 100 x —
S 100
=385
oM =85-75
= ?10
T AfeE = —5>< 100
= 135% qr 13.33%
42.  Match List-1 with List-1I:

TeAt-1 & ey -1 & e i -
List-1/gei-1 List-11/aeit-11
{Commission (Focus area/Wishd &1 )

Committee

e Aafirte)

A. | Sadler commission 1. | Functioning of UGC

HeaT and AICTE

ot o e
T HAFT
B. | Hartog committee 2. | university education
et wfufa in  India/oRd
fareafoarer e

C. | Radhakrishnan 3. | Comprehensive
commission report on educationin
QUIFOME 3T India/sT & fIen |

s fiaied
D. | Yashpal commitice | 4. | Functioning of
T Aty Culcutta university
Faea  Freafaares
EAlCACERL)|
Choose the correct answer from the o tlons
given below: /= ﬁ(l: m foraredt & A
H HAIT FIAC
A B C D
(a) 2 3 1 4
(b) 3 4 2 1
(c) 1 2 4 3
(d) 4 3 2 1
Ans. (d) : T9-1 1 -1 ¥ T fram frefafiaa 2-
TH-1 T=-11
( IITET /At ) (wITT &7 )

TYEoR 374 . | s fawafaaem &t

(1917) HIFHT

germ afufy 2. | e # fyenm W ams ol

(1929)

TNFOH AT | 3. | 9Rd | favafaares e

(1948-49)

e S 4. | oo sk uHEEER &

FEHT

43.

Given below are two statements:

F q woA R v g

Statement I: Passive style is a way of dealing
with conflict in which people are nonassertive
and submissive and dont's let others know
what they want.

& | : Pifera deft g @ ozt &1 =
it & fod v arfrgerareres o fmm B
g og 7o T 8 W R A =
=g £

Statement I1: Manipulative style is a way of
dealing with conflict in which people try to get
what they want by making others feel guilty for
them,

HUF 11 : TAGAAS Joft g5 ¥ s @
e wlieT § faed ST e farg get e St
WEGH HUS 9% U HA B JO A § A
QA oEd

In the light of the above statements, choose the

most appropriate answer from the options
given below:

IWE YA F e #, e faw o fawedt
T W TEA UG I T I B
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(a) Both statement I and statement II are
correct/&SH [ 3R & 11 THT T &
(b) Both statement I and statement II are
incorrect/HH [ AR F94 11 T Ted 8
(c) Statement [ is comect but statement II is
incorrect/H¥= [ T8 8, AfthA 2 11 7o 3
(d) Statement I is incorrect but statement II is
correct/HU [ Tad 8, AR Fu9 11 98 &
Ans, (a) : FfSHa Vet g5 @ Foes 1 o 9de 8 Red
A siffyares st fam 3 ¢ ot gl @t ag 9@ =
B9 3 5 3 T W §1 PR Sl gum & o
H 0 Yot @ R 3 7 ST @ it 77 A @
TS H G T F 2
IS Yieh 35 ¥ e = uw e @
fogd @m o e g i 3 WEg FeR @’ W9
FH H TN I A 4 AR ¢ 3 Hen F am s
AG-UE F A & HE B e w1 % A e,
18 3R TWE F 3T F & IR o @ Fowa
FH F WO W §) 6 T g T A () iR FE
(I 2T &)

44, Arrange the following terms in order to
increasing intension: F ‘{]‘lﬂﬂf
* O P ° srafiera Fe -
(A) Cheese/THI
(B} Dairy Product/g™9 3c9R
{C) Soft Cheese/Jg TR
(D) Strong soft cheese/dt@l I TR
Choose the correct answer i‘rom the options
given below: ﬁ'lI g ¥ O oE I
& T WA
(a}) (B),(A). (), (D)  (b) (B),(D),(C).(A)
() D), ). (B),(A) ) (D)(C)(A)(B)
Ans, (a) : 8 ™ T F PEW (quality) F IR

SR o farforfi 2-
T AR — TR — 98 TR — dr 38 TR

45.  What will be the value of P in the following
number series?
frrfafaa s sfaen © p &1 A fan gem?
0,2,24,252, P, ooerrrnrreesrrnnens
(ay 3120 (b) 1029
(¢) 2045 (d) 630
Ans. (a) : & M8 vl foream @ -
0 2 24 252
VAN ! !
1P-122-23-34"-4
T TR,
P=5_-5=3125-5
=3120
I fawed (a) T 21

Comprehension ;

Read the following passage and answer the
question that follow: TEITS Tl Uign
air == fau o woat & 3= it -

Tiger reserves are in important part of our
tourism industry. There are 42 declared tiger
reserves in India which are generally operated
by state forest departments. Indian tiger, also
known as Bengal tiger is the national animal of
India. Its scientific name is Panthera tigris.
Tigers are maintained in reserves for their
scientific economic, aesthetic, cultural and
ecological values and they are kept as national
heritage for the education and enjoyment of the
people.

TR fivd T e SO @ uw ugeyut
fram §) 9RE ® 42 Ot e fied £
AT U & faamn gry denfera fean s
T ORI TR fE e 2R % ww U S
AT ¥, R 1 T w3 e A
Herr <A TR §) 9 @ fod § e
IE AR, Infdw, Wredwes, Hitgfas X
wiitftafas gear & R fwar s 0 efw 3%
Wit @ R v e & v Wl e %
o T e,
But in recent years tiger tourism has become a
troublesome issue due to the rapid growth of
killing of tigers due to illegal poaching. This is
a wakeup call not only for the department of
tourism but also for the various wildlife
organisations and other governing bodies.
Séance the governments have failed to
implement adequate enforcement response and
investigation wildlife erimes have increased by
yveas. Today there are some activists and
environmentalist who are demanding a
complete ban in public access to wildlife
reserves. But such a complete ban would be a
sethback.
There is no question that commercial tourism
must be strictly regulated, however a complete
ban would be an extremely harmful step, as it
will negatively impact conservation education
momlonn&and other conservation activities.
Fal § TR T wrdy fren &
WO wTE @ g § ash @ & @ ghy #
a9z ¥ g g & T 1 9 T daw weded
faam wfew faftm a=sla d@meat it e
vt fraerat & fore oft <rameelt § sife e
A yadA SgRRaT i st @ fenfan
T W e @ §, T aul o a=aeita detdt
s # gfig g3 4 oo TN T wEwat
ir guierufag § W aOdE f9d 9@
HrdT TES UX YUl W T @ A o
® ¥ o=y Tar gut wisiy wiwmd gem
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T O 9 ®E WO AE) (R o wehe ¥ TR
aifTh® T W et ® faivafm fem
WA T, Ay gul wiste @On vt
TITHT Haq TN, FEiten WY weeft fram,
et o dreror d@ecfh s wfafaiiEn w
THEHT THNAE TWIT T2
Solution to the problem of wild life crimes can
be found by:/a=asita Werelt syowen @it wwn
T WHENA faRE® g Ured fRRAT ST Wasar §7
(a) Banning public access to wildlife reserves
e f5d d% geEts ©@Y W e
[SLICTS
(b) Banning tiger tourism
R T W Fiday e
(c} Regulating commercial tourism
AT wde &t fafafia a
(d) Curtailment of wild life population
TG N H T H
Ans. (¢) : TN FE ol @) wwEn & wOwME &
fom amavas ¢ i T e & geh A fafwafa
fom sy 3R = Sl F g foeR o STl #9 aeh
TR T & fdta e S
47,

46.

Tiger tourism has become a problem in recent
years because:/FA & aW W TER THA TH
TOET & T it
(a) There are too many tigers

IR S e T At 2
(b) Tigers kill people/ZTFR T Hf AR STeid 21
(c) Tourists disturb tigers

THes TP @ AT A
(d} There is illegal poaching of tigers

IR & 3Ty R i 2
Ans. (d) : 2R fiod TR wHea M W UF Tyl
foee @ Wy T & a9 § TR v oy R ¥
FROT A A A ASh ¥ @ W IE F I S
T ¥ T 2
48.

A protected area for animals, plants etc. is
called /a3t , dret onfg & fog wRfgre &= =i
FAT T AT §?

(a) A Reserve/Red

(b) A Forest/as

(¢} Countryside/3gm

(d) Cantonment/STa-t

Ans. (a) : TI[aT, e st g SiEt & o ol o @
ftsrd e s 1

49.  Given below are two statements:

TR IFA U E

Statement I: Banning commercial tourism will
positively impact conservation activities.

wAF [ ; arftiivaes e W ufasyr Hisror
Thafafis & TEREE T J TaraT :Em

Statement II: Panthern tigris tigris is the
national animal of India.

A |1 ; dawr zufn eufim ans =1 o
g

In the light of the above statements, choose the

most appropriate answer from the options

given below:

IWE YA F e #, e faw o fawedt

T W HaW SUGTH I TG S

(a) Both statement I and statement II are
correct/He [ 3 oA 11 341 Tel &

(b) Both statement I and statement II are
incorrect/®IT [ 3T FHoH 11 A1 e &

(¢c) Statement T is correct but statement IT 15
incorrect/F¥A [ TE '3, AR FUA 11 7o Q

(d) Statement I is incorrect but statement II is
correct/H [ T &, WK H9 11 71

Ans, (d) : Tfofsas gdoq © qui givews @ st
SN 3 &, Fifs R Gadt et nfafafeEt o
TH AERIHE TOE Ugdr 71 Taw enfiw IRinm’ a
F TP 1Y) 3 F FT TR $ w0 F I T
37: TE & & F99 (1) Toa & e B (1) T )

50.

Tigers are kept in reserves for the followin

reasons: & Frafafga =t 4@ fisd ¥
TET A S

(A) Ecological value/aftRafaaia 1ea

(B) Cultural value/qipieas o

(C) Agricultural value@'ﬁ T

(D) Aesthetic value/Ht=Ts 1o

(E) Medicinal value/fafedta oo

Choose the correct answer from the options

given below: ﬁq m Rraredt § @ wét 3

W A RITAQ

(a) (A), (B) and (D) only/aa_clﬁ (A), (B) 3t (D)

(b) (B), (C) and (D) only/&ad (B), (C) 3 (D)

(¢) (C), (D) and (E) only/&ad (C), (D) 3iR (E)

(d) (A), (D) and (E) only/3a= (A), (D) 3i (F)
Ans. (a) : ST 1 R9d ¥ Wa-T@E 398 dqfas, i,
Hiedwe, aivpfos it wifeafis qeal & @0 faar
WA € 3R 3% Wt & e 3R see & fau o
faraa & ®v § war s 2
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NTA IS Je/semus iy, feamw-2023
ToneruT wa viver SrfirEEEr

ST WEA BT UIH YYT-TT [oftam i3 : 14.12.2023 Shife-11]

Comprehension: o 3TOH F 75T A 4 WG 30F
The following table shows the percentage of 150x82 3IxR2
:F?;ks obta;n'edtbi; sli?x c:ilt\'fd%-;nt students in six S0 5 x4l=1z
University, alongwith the maximumn marks in |[* 70 ¥ 9 A % 1 515
each subject {shown in brackets). Based on the - 150x76 - ﬂ =3x38=114
data in the table, answer the questions that 100 2
follow. o T H fvm A | WA i
Frfafiga aifera o Rl frafreem & @ 15090 3x90
Wt T wEwmn % oy faruw fawal AF & oe ST 2 TSI
fafim faamfds gwr yrm ofwi &1 wfow o T B v A § o e
wefa & o v=w v & afawan o= 15064 3x64
@ W @ o § (wigw Ayl =0 2
AR & AHG h IMUR W IAW GEH | |o By 5 fwa A § 9 3%
Tt & I S _150x48 _3x48
Student-wise Percentage of Marks in Six Subjects 100 2
e fowat o st o fremefi-am yfee gt forenedf 30 famg A & W it @ sitm
Students Subjects (Maximum Marks) _99+123+114+135+96+72 ~106.5
forervoff farwer ( aTfireram 3ie ) 6 :
A150 [ B100 | c150 [ pa2s [ £75 | k50 |||= fo®9 E & a1fsan si =75
AAfaer 66% | 75% | 88% | 56% | 56% | 90% |||e =1fam g favw E § Wi s
Anil _15x56 _3x56 _ ,,
S 82% | 76% | 84% | 96% | 92% | 88% 100 2
Arman o 3O g 499 E o Ww ofF
31fdg T6% | 66% | 78% | 88% | 72% | T0% _ 75%92 _ w - 69
Arpit 100 4
Ta 0% | 88% | 96% | 76% | 84% | 86% |||e 3td SR fawd E # W sk
Gaurav _T5xT72 _3%72 _ 54
II{TyﬂH 64% | 70% | 68% | 72% | 68% | 74% _ 100 ) 4
Gurjit o T g fa5a E § o3 afs
fo 48% | 56% | 50% | 64% | 64% | 58% _T5x84 _3<84_
Biiya 100 4
1. What is the different between the average ¢ T‘Eﬂﬁ T 9 E & A o
marks obtained in subjects A and E by all the _T5x68 _3x68
six students together? 100 4
w+ft o7 faeniet & uw wre et A 3R E || firmr g faeg E § 1w st
feraal § yra atent & aftaa & wem aiaw Reaan _75x64  3x6d
& "o x
(a) 48 (b) 50 ool fernfii g fawg E & s sia @ sitem
(c) 52 ) 54 _42+54+63+51+48+69
Ans. (¢) : T A @1 sifeEmm 3iF = 150 - 6 =545
o 7@ F T A § 9 IS o A 3R E # X1 3t 3% Teq sltom 39T
_150X66_3><66_99 =106.5-545
"0 2 =
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2. How many marks did Anil get in all the six
subjects together?

mft o7 et = T g e e =
e 3t fre?

(a) 369 (b) 463
(c) 558 (d) 496
Ans. (b):
fra A & o o @ aig = 1907663766 _,
100 2
fomg B # Ww afr =t =IO?;0?5=
fg ¢ A WA o & iy = 200883884,
100 2
frmr D # W o @ af = 120796 _5%36_ 4
100 4
fawar E # s st @ ofg = o002 3X36 _ 49
100 4
fora F & s st @ o =—5?;30=%=4s
o 3@ & woft vl § 39 of
=09 +75+132+70+42+45
=63
3. If M and N represent the average marks

obtained by all the six students together in
subjects C and E, respectively, then (M, N) =

'ﬂﬁ{Maﬂ.TN,m: C 3ir E, faw=t # asft 27

foremidal g U W fremaR ww R T

skl oA W ygE R W (M, N) =
|

(a) (112, 56.5)

(¢} (115, 56)

(b) (114, 55)
(d) (116, 54.5)

oWﬂ%ﬁWCﬁW%

_ 150><50=3x25=,},5
100

ot forendi g0 o ¢ & W@ siE @ sitER (M)
_ 1324126 +117+144+102+75
6

=@=

116
Rwa E = A= 355 = 75

Ans. (d) : fas@ ¢ & sifean 31% = 150
o 319 N faw ¢ § g siS
_150x88 _3x88 _ .
100
o 3THH &I fa¥w C # e 31
I T T
100
o 31ffa &1 famg ¢ § yra i
10778 _ 5 39-117
100
o TiE &t fma ¢ | wra i
_150%96 5 o 1aa
100
o T @I fawg C ¥ W 3%
S 150%68 _ 4 34-102
100

100 4

o SR & R B w ats = 20023792 g
100 4

o % T fawa B 3 o aim =L 2 =322 5y
100 4

o iva @ g E A o i = oo 3784 _
100 4

o T @I fawa E F w3 =%=¥=51

o firan 1 g E & W o =—751;§4=_3x464=43

o Tt foremedf g fam E F Wra afei @ sfiwa

_42+69+54+63+51+48
6
=545

I I =[116,54 5]

4, Total marks obtained in all the six subjects
together is more than 490 by exactly
students. L )
it o fawet o Y BRr TR TR @Y U W
firera dr TR faenfdat @t 490 /@ 3
3t et §7
(a) 2/ (b) 3784
(c) 4/°R (d) 5/mia

Ans, (b) : 3@ & T+ft faval | siF -

ﬁwA", ) ) ,):ISOX66=99

100
ﬁwB", 3 Ehd ,,=IOOX?5=?S
100
ﬁwC »r »r > > =ISOXS8:I32
100
ﬁWD,, »a £ ,,=125><S6=?0
100
WEn TR 11=75X56_42
100
WF,, ar » 2 _M_%_45
100 2
aifaa = wsht fawat & wa sis
=09+75+132+70+42+45
=63
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o foRmeff srHEE -
ey A % o = 00782

100
fawa B & ot = 10000 _ ¢

100
Rrvar € 3 o s = D08y

100
ﬁWDﬁmm=125x88=110

100
ﬁmEﬁwm-Tsxnﬂcl

100
ﬁmFﬁmm=%=35
A & ad faei § oa 3

= 123466+ 117+ 110 + 54 + 35 = 505
A & ot fawedi § afw
=114+66+117+ 110 + 54 + 35

= T -
e = &g
T = fagl
forem =fsd
o % 3 frnfde faod amm, s @ T &
490 ¥ e 3t fired €1

5. Marks obtained by Gaurav are %
more than that of Gurjt in all the six subjects
together. (rounded off to two digits after
decimal)
vt o foui = U= Wy fuemeR iRE g
T sieh TRSTE BT yTE ofmt @t gen o

% 3w ¥ (e & uge 2
afent & ot fafam e §)
(a) 27.35 (b) 24.52
(c) 29.45 (d) 28.15

Ans. (a) : | '{RTrﬂT-T

A 150><90=135 A 150x64=96
100 100

lOOXSS:SS B. 100><’I"0=_!0
100 100

_ 150x96:l44 c 150><68:]02
100 100

D. 125><7"6:95 D. 125x72:90
100 100

7'5><84:63 E 75x68:51
100 100

F 50><86=43 50x74=37

100 100
Total = % =0466  Total= 4;# =74.33

1R wiged = M><100
446

=122 100
46

=2735

6. Given below are two statements :

ot @t wo= 3w g £

Statement I : If big corporate houses establish

universities in India, quality professional
training and education can be given to
students,

FAT([): TR TZ FUNE W oA A
fasgtoemea =t T &, @ faenfdm @
TOTETIYY ST WA qer frem ye=
W I WA 2

Statement II : It is expected that universities

and institutes established by corporate houses
will be world leaders in education.

T () 9% n W ot § R @i
TWEE g TiE R W we Rrafaeee
e weerr forem # fawy A anroft 2

In the light of the above statements, choose the

most appropriate answer from the options
given below:

ST HIAl F oA U, i fqu o fammewt

T | T I o =AW

(a) Both statement I and statement II are correct
oA 1 3R 4= 11 3 e 2

(b) Both statement I and statement II are
incorrect /&4 1 31 & 11 41 3/ &1

(c) Statement I is correct but statement II is
incormect
F9 1 2, AT F99 11 370 21

(d) Statement I is incorrect but statement IT is
correct /AT | 3TH 3, Wik HaA [[ T 2|

Ans, (b) : AR T2 FORZ WA A ¥ fqafamerm @t
WO A el @ e et st
aon foew F&W A T aEd ¢ AP A7 AvEE 7
T 3N e e w3y & foen & 4§ smh
LUl

e~ &2 T IR Fo0 ¥ AR, e (a) @O (b) S

& T T T 2

7. Given below are two statements in the context
of digital technologies for entertainment:
et v wEeh fefvee deiie & e o
2 wa= fau vy §:
Statement 1 In virtual reality, images
generated from a computer are projected onto
real life objects or surroundings,
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HAT (I): 3Tt areAtawa § wgER wiw
siaat ® aretas faw FH owget W
uftayr w3 waita feran Svar &)

Statement 11 In augmented reality, a

simulated environment is created and the
physical world is completely shut out.

waF (II): Taftia

aftaer g faran wmar § oiR wifoes wow o
TE ST W R

In the light of the above statements, choose the

most appropriate answer from the options
given below:

IWIE HYA F A #, = fau o faweut

T o T ST & wa A

(a} Both statement I and statement II are
correct/HaA [ 31T HgA 11 2T T & |

(b} Both statement 1 and statement II are
incorrect /B9 1 2R % 11 3F1 318 2|

(¢) Statement [ is comect but statement II is
incorrect

w1 99 8, ST H9 11 35 2
(d) Statement I is incorrect but statement IT is
correct /HAA | 3T/ 7, Wiha w9 [[ T 2|
Ans. (b) : 3R rafasm ¥ FHrAEY dfAm S @
ST e % awqsh a1 aRaw | weiftm A e S
TEA | I afadar # orfefa aRaw gia fE
S 2 ot sifis ER @ o &9 ¥ &7 48 e
2
37 A B 3§
8. If the average of 10 numbers is 40 and the

average of six of them is 28, then the average of
the remaining four numbers is :

afe 10 FEamsn =1 Aaq 40 § aur 9 @ oE
@ ol 28 &, A AW =) dEmeh @ ofma
T Bm?

(a) 52 {(b) 54
(c) 56 (d) 58
Ans. (d) : TR,

10 HEmsi a1 afiwd = 40

10=40dd 10 x 40 =400

I 6 HEAS T T = 6 x 28 = 168
o 9 4 'H@TQ xga@

400 =168 + 4x

dx=400-168 =232

2

0, Given below are two statements :

il St weA fau g E:

Statement T : Increasingly, photovoltaic panels

are being used to supplement electrical energy
from the power grid,

X=

T (I); wafe | o st @ sl &
fore Wt A el % SwEm F ghy | Avh
EIRCiEA

Statement 11 The compatibility of

photovoltaic panels with power grid is also
because it produces Direct Current (DC).

HUA (1): TR e & arr wer S et
& e gate ot § i guw fap amr
(et ) & et

In the light of the above statements, choose the

most appropriate answer from the options

given below:

IWITH HIT & AT o, Hrer iy 7w fremeat

oW W ST was At

(a) Both statement I and statement II are
correct/®IA [ HR F1 11 341 a7 €

(b) Both statement I and statement II are
incorrect /¥ [ 3 Fo [1 2t 30 §)

(c) Statement T is correct but statement II is
incorrect
T [ T €, Wfsh S [] 37 21

(d) Statement I is incorrect but statement IT is
correct/HA [ 39 &, A B 11§ &)

Ans, (¢) ;: Tafiie & foqa o & oFqgfd & fog @t
ey 9t F WM § eer gfg @ W @ #
TRiE TE dE il @ AgEed § TeEdl 9R
(wh) o 41 21 W 98 9w A 8 W 5 fwm
IRy § o feen et w2

37 FIT [ HF & FAfE S [ 3159 |

10. "All phenomena in the universe are saturated

with moral values. Therefore, we can conclude
that the universe for the Chinese is a moral
universe". Which informal fallacy is committed
in the above statement?

“gmig § weft uftueand S e @ 9w
(wErR ) geht §) gty 7w e frame wa
¥ fo =it & forg weris uw S s
I WY W R W SRS qh AW &7
(a) Slippery Slope/fEHH Fe=

(b) Fallacy of Begging the Question/sTsA 29
(¢) Hasty Generalisation/2Tfer=Ra Smm=itesor

(d) Fallacy of Composition/3gf a9

Ans. (d) : FEE ¥ wft ufweand dfod gt @ wgw
(WER) gt d z@fw gw fed fme w2 fE
Hifat & fore F=iic uw s s@ie 8 3% o4 § el
4m #| 1@ 9 & 9T B =S o § | FA F 9=

30F guieE o § WM FE § 390 a2
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11.  'Which of the following correctly represents the

meaning of the aabbreviation "ante" used in
academic writing?

frafafaa # 7 S W1 e sTEEitE FEa o

v U (ante) Whw & ord @1 W

wferfafire wtar 37

(a) anonymous/3F@®  (b) before/Tewt

(c) after/arg & (d) and others/31T 3777
Ans. (b) : THER T’ (Ante) F1 Ifr@ o1 TR’
BT O TR AT SIS R § g e S 2
12,

In  self-directed
knowledge includes :
w-trdfym siftrmr o AR §E oo
wftafea §:

(A) Contextual knowledge/Heuieres JH

{B) Factual knowledge/T&aTeach ATH

(C) Procedural knowledge/UTsharates A

(D) Technelogical knowledge/drEiites 71

(E) Practical knowledge/SIgTa W1

Choose the correct answer from the

options given below./ st fau wg faweat o
¥ T T @ TAT A
(a) (A), (D) and (E) only/Ha (A), (D) 3R (E)
(b) (C)and (D) only/&aa (C) 3R (D)
(c) (A), (B) and (C) only/Fa¥ (A), (B) 3 (C)
(d) (B) and (D) only/&9a (B) 3R (D)
Ans, (¢) : @-fEm sfm § figes §w A
Tl JE, TS FH UE RIS JH gt
fare s @1 A 3w Gl e stve @ w1 w5
FH T A ) TATS FH 98 T 2 I fafve fawat &
7T qen €1 81 T8 AW TEYaS U weEd
# gehf Fw 2
13.

learning, metacognitive

Identify the software used for detecting
plagiarism :

wifgfeaa =t @ gar T & Ty @ e
T AT TIUTEET S Tge o

(A) Mendley/Hee

(B) Turnitin2fHfea

(C) Compiler/&mngeX

(D) [thenticater‘alﬁﬁﬁﬁa?

Choose the correct answer from the
options given below:

Fi=r fRm U fowedt § ¥ WH SO @ TR
wif:

(a) (A)and (B) only/Fa (A) 3R (B)

(b) (A), (B) and (C) only/ &= (A), (B) 3R (C)

() (A), (B) and (D) only/ Faa (A), (B) 3iR (D)

(d) (B)and (D) only/ &ad (B) 3R (D)

Ans. (d) : GRfeae = &1 T @ & (oG J9T § @ng
3UAM WY T H WS B, e A AR’ &
fo sy gt daR @ & foe fmar S 81 FEeR UE
m%wwﬁmmwwawmwﬁﬂ
FPRET N7 I GO FP AT H FEerd

14. In the year 1921, the idea of national education
system in India got a boostal?éf transferrmg the
control of education of -/ 1921 &

ugta e ugfa o fasm =l dgEr finan &
foretzror for aiafta farn w3 | fhe?

(a) The British Viceroy/ffa amata

(b) Indian ministers of provinces

W=l % AT T
(¢) The Christian missionaries/3a8 f¥AG
(d) European elite/0 & sifirma af

Ans. (b) : TEAS 3N gEw Fufem 1921 # wonftm
g0 FHEM A ¥ T e @ e § F9 s
3 firem fomn o soERREm A @ IE S W 1921

B A0 ETER FA % SER Wi v § R 9

TRl % afemr & o )

15.  Which of the following statements are logically
equivalent?
frafafas @ @ @9 ¥ waw Tifhe w0 O
wagea §7

(A) No metals are gases/®is ot ag fra =&t &
{B) No gases are metalsﬁﬁ? ot i 10| Ay
(C) No metals are non-gases

g ot arg - R
(D) All metals are non-gases

ash e fe-f 31

Choose the correct answer from the options
given below :

et fqu o faseai © ° wE 3T @ WA
wa;
(@) (A), (B) and (D) only/3% (A), (B) 3R (D)
(b) (A), (B) and (C) only/ 3 (A), (B) 3R (C)
(¢) (B), (C) and (D) only/Fad (B), (C) ¥R (D)
(d) (A)and (B) only/&ad (A) 3R (B)

Ans. (a) : Wmaﬁ?%ﬂmgﬂqaﬁé,aﬁéwﬂﬂq

oy 1 3 U et angd - @ mithe wv & awges ¥

16.  Match List-1 with List- IL
T=it-1 B gEft-11 = e Sl
List-1/=f-1 List-I1
(Hazard related H\Eﬁ -11
tcr_m) (Description)
(@aw weth ue) ( )
A. |Risk I. |[Action to minimize
EUEEL] loses
THTT ! HU A h
feru erraTg
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B. [Exposure II. |Frequency of events
EF-LE] causing losses
qEEE T aret
[SrEATAT hi SHETTAT
C. |Vulnerability I11. |Mignitude of
EEBEL population and
N structure at risk
Wifgw  yaur  ImEer
i TXeT ST witmT
D. |Response IV. [Degree of
STIfeRaT preparedness
[cramdt st |

Choose the correct answer from the options
given below :

Hrer fou o fawedt ° ® WH S W W
Eﬁﬁ'l{:

(a) (A}, (B)-(II}, (C)}-(IV), (D}-(I)

(b} (A}(D), (B)-(11}, (C}-(IV), (D)-(I)

(e} (A)-(ID), (B)-(IID), (C)-(1), (D)-(IV)

(d) (AN, (B)-(11}, (C}-(D), (D)A(IV)

Ans. (a) : QAT Tt 39 TR 8-

(@ datft we)
A

C.
D.

TEit-1 =it -11

(Tuia)
TFHE FH aell geasi @
AR
Sifign yaur el A GEE
F1 aRmmr
dard & @

g -
sfeT - TEEW W FW FA F fm
Frian

SifEm -

17,

Given below are two statements :

il St oA fau g &

Statement I : Through feedback, students can

later critiqgue their own communication

competence outside the classroom.

YR (I): gy (@Ed® ) & meam |, v
AT B HT T AR 30T WowwT A
STHAT T WHTST &Y el ¥l

Statement 11 Motivational orientation
towards communication should be

identified by teachers to better the
communication completence of the

students.

o (10): rerst gr Wiwwr & iy
K3 (R L)1 G3)
UE=I BT AT SRy vk S @y
HIWUT GHaT SgaT & |ahl

In the light of the above statements, choose the
most appropriate answer from the options
given below:

IWIE ®IT % ew o, Frer fag wu fremeai
T o T ST & wa A

(a) Both statement I and statement I are
correct/HUA [ 3R F4a [[ 241 9 &1

(b) Both statement I and statement II are
incorrect /F9 1 3 FHa 11 341 38 &)

(c) Statement I is correct but statement II is
incorrect
oA 1 99 €, A S 11 37 81

(d) Statement I is incorrect but statement II is
correct /FI7 [ 39A 8, AlHA FoA [ 99 21

Ans. (a) : fogs 30 9oEO F AR IRpRoTES Qo
ARG TR W W @ @ e i ae
Ty g w1 e @ W ol sfagfy (Wi d%)
e ¥, 3F A% § S § A 1A N0 $Y awa
T X TG 21 3T Al e a2

18.

Which of the following universities were
established in the same vear of 19167

frafrfan o @ fe-fee frafgest =t
T T 1916 § #F g§ of?
(A) Bombay University/aitrar Fi=afdiet
(B) Banaras Hindu University
"y g frafremera
(C) Mysore University/ﬁ'{i‘ Qﬁl‘dﬁ‘fﬁ

(D) S.N.D.T. Women University
ww U= g & dem gl
(E) Punjab University/d=a fagfeemea

Choose the correct answer from the
options given below :

= faw 7 fasweat & /¥ TR & 9w
i
(2) (A), (B) and (C) only/3ad (A), (B) 3R (C)
(b) (B), (C) and (D) only/3a (B), (C) 3 (D)
() (C), (D) and (E) only/#@@ (C), (D) 31 (E)
(d) (A), (C)yand (E) only/aw_cﬂ (A), (C} 31ﬁ‘l (E)

Ans. (b) : 7R g faufeem it o oeq Heq
e % YA W 4 HEd 1916 €O g off 7 @
R fygfeem @ w27 w1919 § w@
WA A don Rufemen, T i Wi 5 g

1916 §. 3t g ot

19.

Which of the following approaches to the
analysis of content is based on the study of
signs?

favgatg & favemor @ Fafafea @E-ar
IUNTR wEt (Fagt ) & srema uT ameiiw §2
(a) Semiotics/Haha fagm

(b) Ethnography/Jsife Jui

(c)} Content Analysis/ﬁﬂ'ﬂmﬁ ICEEEL

(d) Quantitative Research/MHEIT+ iy
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Ans. (a) : fawges & favemm & g=d § ddd fagm
YT Yt & 3TeFEd G HIRd 21w e § dahd
sfsransti a1 sfueisr wd G@uNe 3R Sdie & e
Gehet fergT sheemar 21

20.

All forms of communication are evaluated in
relation to:

wift YR & T o geaiee et |
W forwas deier A fopem wraT §7

(a) Face to face communication/‘ﬂ'@’l’ﬁ@ T
(b) Radio transmission/ AT FEROT

(c) Television entertainment/ZEI(A AARSA

(d) Internet usage/ﬁmﬁ'{ N 3ITAT

Ans. (a) : Tft YER F TOINUE WA

e F ey H R S 21 3 e g wed, e
7 forga & uam § it & d oyl s:fhan & T
e TER T fREm =1 w2

21,

Which of the following acronyms is incorrectly

matched with its expanded form?

frafafiga § @ -9 dfgrann =1 3§86

ferega w0 A firen= e 872

(a) IMPRINT - Impacting Research, Innovation
and Technology/3ftie (IMPRINT) — '
o FRTH g8 2t

(b) BHIM Bharat Interface for Money
fif (BHIM) - YR 320hT SR A

(c} UMANG - United Mobile Application for
New age Generation

IHT (UMANG) — FATEE AiNGe Ufterhyd
T 7 - TS FARIH
(d) PayTM - Pay Through Mobile

UHUH (Pay TM) — T o HEEa
Ans. (c) : 3HT (UMANG) & fawga &9 ‘afeRe desd
TfEHyE B = TS A 21 o ud fawer &1 o
fem &1
22,

Given below are two statements :

et St weA fqu o §:

Statement I : Rising nutrient levels in a lake
change the numbers and types of biota present
there.

HUA (I): TwE Fher § o dve @ @ IE
Iuftera Sfraar & W@ i yaEw uiafhda g
£

Statement II : Eutrophic lakes normally have
clear water and contain little biomass.

HA (11): W Guree g § @we we
>R a1 T # Sa-wEfr (I ) g
In the light of the above statements, choose the

most appropriate answer from the options
given below:

I HAT F e o, e iy wu fremeai
& T 39 = waw @

(a) Both statement I and statement I are
correct/FHUA [ 3R FHoA [[ A1 9 &1

(b) Both statement 1 and statement Il are
incorrect /&2 1 3 F= 11 241 3w §)

(c) Statement I is correct but statement II is
incorrect

Fo 1 99 8, AfpT o 11 379 31
(d) Statement I is incorrect but statement Il is
correct /FIF [ 379 3, Al F949 11 59 31

Ans. (c) : [ 3@ § 9gd UNe X ¥ 399 Iuftuq
el # wes 9l 3 L A § o9 wef (IEm) @
g1 37 &9 | U9 2 S H99 11 378 |

23,

Which learning style invelves the extent to
which students approach learning materials in
a way that helps them understand the meaning
of the materials :

form srfirm Jreht o wg wnftrer & fon forameff w
T2 A% IR wrmft @ Tw TOE A T § e
AW ¢ Al @ ared wwg W wag frew §2
(a) Surface styles/qagl Hferar
(b) Tmpulsive styles/3Tae Siferi
(c) Deep styles/ e et
(d) Reflective styles/fia ifera
Ans. (¢) : e ferm et # 77 wifte € 5 faandf o
g2 7% AT el & 39 T ¥ d@d § fF 39 IR
gl & 7 guee # we fyed 21 98 R faww &
3 UR Frae S Sl T 2|
24,

Given below are {wo statements ;
f=r T wouw R o §

Statement I : Edmodo (online tool) helps
teachers to stay in touch with parents, share
updates and discuss student progress,

WAT (I): USHIST ( oA o7 ) | gyt =y
fenfdat & war-foar & dudh W @A, O
Rrenffat aft oreewy Rufy wgr & |en
foaenidai &t wifs & foma o == &9 o
g et )

Statement II : Duolingo is a online language
learning platform,

W (I): TN Aoy sy s @
T Wl 21

In the light of the above statements, choose the

most appropriate answer from the options
given below:

ST T & et W, Ao fag o faameat

U ¥ At I w9 Hi

(a) Both Statement [ and Statement IT are
correct/Ba [ 3 o 11 I 9 E}'I

(b) Both Statement I and Statement II are
incorrect/&HUA [ 31 HUA 11 ST 379 &1
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(¢} Statement I is correct but Statement II is
meorrect
FT 1§ 7, AT T4 11 318 21
(d) Statement I is correct but Statement II 1s
correct/HIT [ WA 3, fHT 4 11 7 21
Ans. (b) : ST HelEa I M0 H TH 09 @
S @ W gEd SEeh W R S g 81 usiE
(3iteTe Z) ® forert =) Rrnfefal % wwr-fen & wwd
# @, 3 frniial & swmw Refy wmnm = awn
fenfeft &t it & fawsr & o=t 37 | wgra fed 2
Me:- 3 ™ W N F FER, W T H TW
fhe (a) T (b) TAT H AT TN 2
25,

Two statements are giyen below :
et 3t wer g o ¥

Statement (I} : The all effects of air pollution
are not limited to human health.

HUF (): T YU & TYNTE UG @
& § difte =& T

Statement (II) : Fluorine released into the air
from variows industrial processes has
significant phytoxic effects.

wAT (I): fafir=r sienfire ywai gor arg o
B T WA @ wgeagul sy
3= A

In the light of the above statements, choose the
most appropriate answer from the options
given below:

IUH HUR & AAE W, A=t fag wu faamed

H /W TR @ = At

(a} Both statement I and statement II are
correct/®A [ 3 oA 11 3H1 &ed &1

(b) Both statement I and statement II are
incorrect /HI 1 3 FoA 11 I 30 §)

(¢) Sttement [ is correct but statement II s
mcorrect
A [ 9 2, A o [ 39 21
(d) Sttement I is incorrect but statement II is
correct/HIT [ 39 &, AfHA T 117 )
Ans, (a) : THA FHE § 9 WgEU U e @HEN
T vl §) WF TE TV ERA & OO
e, -9l T S 9 a9 ey iR W IS
21 wrcife shdive straet O fame Wi & wemyel
ey AR ¥ % g &1 3 41 B 9 £
26. Science education in India was first started in
Calcutta in 1817 at:
aRA § e = Bram odyaw ad 1817 ®
T W R0 e | I g8 ot?
(a) Surendranath college/qE=TT Fiets
(b) Ashutosh Mukherjee college
ST T AT
(¢} St Xavier college/¥2 SR Fera
(d) Hindu college/fe=g Hicm

Ans, (d) : TG ¥ fagr & fer wdgew af 1817 #
Fawal & &g Ffas § ¥& g A 39 S S =
2fde X U@ TIRM HiRd U9 & A ° g3 41
27. Match List - I with List-I1.
wefi-1 /% g=ht-11 = e i

List-1

-1
How many ones are there in | L

the binary representation of
the decimal number 5127

FyWeE @ 512 & f3-
sl wfawan # feRad TS
#?

B. | If 1 KiloByte = 2* bits, then | IL
what is the value of x?

7fy 1 ffeismge = 2* fagm &,
il x & W F Fm?

C. | What hexadecimal value is
obtained when the two
hexadecimal digits A and B
are added together?

4 & Wew-au qEsl A
3 B & THAY S 6L,
T F Ssy smadt nE
gm?

What is the decimal (base
10) value of the binary
number 000101007

fasmyrft d=m 00010100 &
Ty STl W /= g ?
Choose the correct answer from the
options given below:

= fou 7w faedt & ¥ WE IR @ T
FHiftaa:

List-1I
Teh-11
13

20

m. |1

IvV. [ 15

(a) (A)-(III), (B)-(IV), (C)-(1), (D)-(11}
(b) (A)-(II), (B)-(I), (C)-(IV}, (D)-(111}
(¢} (A}(T), (B)-(III), (CHII), (DY-(1V})
(d) (A)-(I1I), (B)-(I), (C}IV), (D)-(11}
(d) : gfem T 39 TR 2-

TEit-1 Tei-11
g @& 512 & fg- - 1
gm:r& whe § {6 %

9

B. X1 foaewe =2 few -
g, d x % HA 4 g

C. w9 T siew-amad) sema -

A 3R B F THEF e

W €, @ & NEy s

A I gm?

famad Wenm 00010100 -

& SO M9 A9

gm?

Ans.

13

15

20
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28. Arrange the following according to APA style

of referencing:
weualsd =t ity Jeft & srgEnr fratafaa
I TE A T Hafted W
(A) Title of the research article
FiTer INerE & S
(B) Year of publication/JshTvI= &1 o8
(C) Name of journal/STHet T A0
(D)} Name of anthor/A@a& &1 9TH

Choose the correct answer fmm o%tlons
given below./at

I & AT aﬁﬁﬂq
(@) (A),(B).(C),(D)  (b) (A),(C), (D). (B)
() (D), (A), (C).(B) (d) (D), (B),(A). (C)
Ans. (d) : TRl & TR Jiedt F 9 -
(i) TGE H AW
(ii) ShTYF &
(i) T 3G 1 sies
(iv) S =
29,

Which of the following statements is logically
equivalent to the statement "All beverages are
liquid"?
‘et zm A £~ Prfied § @ @ W
HYF AMfeha TC ¥ W HAF & WOged §7
(a} All non-liquids are non-beverages

it g -G @ €
(b} Some beverages are liquid/3 T 59 8 &
(c) All liquids are beverages/@t z7 T 31 &1
(d) Some liquids are beverages/§% 9 T g &)
Ans. (a) : TSR @ R-77 U7 g 8 aifche &9 &
T T 79 @1 ¢ & Tged aml
30.

When wathing videos from a web site using
streaming technology, which of the following
will be involved?

whftim drenfiret @ Sudi w5 g dwEEe o
fafeat dEs wum Praffga © @ @9 @
e &7

(A) DNS/A TR T

(B) FTPA® &

(C) IP/a1ig Wt

Choose the correct answer from the
options given below

Hio fau vy feeredl O W W IR @ wEA
o

(a) (A)and (B) only/Fa (A) 311 (B)

(b} (A) and (C) only/ Ha (A) 3R (C)

(¢) (B)and (C) only/ a4 (B) 31 (C)

(d) (A), (B) and (CY/ (A), (B) 3R (C)

Ans. (b) : R SefiE
fafeal 2@d wrg S

# TEE w4 & T ww e sk FHHTER
JuaEel & S & d9 A TRE & & Al
IeT HU1 2 |

31. What will be the values of P and Q in the
following number series?

frrafataa o g@en ¥ P ik Q & o= &
gom?

2,0,6,6,12,24, P, Q, oovoree
(a) 48,96 (b) 20, 60
(c) 12,120 (d) 48, 50

Ans, (b) ; TR di09-
[ = [ = |
A e ]

2 0 6 6 24 20

| I

1-1 2.2 33 4'-4
Which one of the following types of assessments
would be most beneficial for assessing a
student’s ability to debate?
qeaiga & Frafatea § ' 3 W uEn
faemdal @t ae-far == F avaa @&
T T o A waifies anaeraes §7
(a) Formative Assessment/TIARAE o6
(b) Summative Assessment/SEHTATS Hed(H
(c) Ipsative Assessment/TaHIAH TediHA
(d) Performance Assessment/fSIET Hedidh
Ans. (d) : FoER [eiE il St ae-faag @ &
I Yo B & o Al e 21 98
T Uty @ e g feelh s 5w Fem @
it T S 21

33.  The policy of privatisation of higher education
began with the introduction of which scheme :

Foa fnran & it &t ifa foem o &

IE B W AW I 2

(a) Fourth five year plan/=heft d=aifa @S

(b) Sixth five year plan/S3 U=adfa gmAr

(¢) Eighth five year plan/3T34l Weasia Jiomm

(d) Tenth five year plan/ZGeht d=aifa grerT
Ans, (¢) : 399 YT & FoleRwr 3 A et deadfa
Sl F FE I T oy F W off1 oned dmanifa
A 1992-97 & d/g W W AN HW qA I
siteifien & 31 smyfaat For am

34.  Which of the following media is often described
as "one day best seller'?

frafafaa & @ fem fifsw = @y
‘e T o 3o Tt &% w0 o faRar war §?

o
3]

32,
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(a) RadioRfEat (b) Internet/32i-a

(¢) Novel/ 98  (d) Newspaper/HHMR 9
Ans. (d) : TR T H U4 T oA &1 IA0 kAT &
M & dfew % w9 ¥ So@ A 9w )

35.

Given below are two statements:

il St oA U g E:

Statement (I): (0.5625),, = (0.9),4

A (I): (0.5625)9 = (1.9)4¢

Statement (II): (0.3),, = (0.4BBB......),s

T (ID): (0.3 = (0.4BBB......):5

In the light of the above statements, choose the

most appropriate answer from the options
given below :
TR YA % I W, o fiy g et
T ¥ T I W AT W
(a} Both Statement [ and Statement II are
correct/®HaA [ #HIX HeH 11 41 T %TI
(b) Both Statement [ and Statement II are
incorrect /F 1 3 &Had 11 3H1 3\ £
(c)y Statement I is correct but Statement II i1s
meorrect
FH 1T 2, A T 11 518 21
(d) Statement I is incorrect but Statement II is
correct /He [ 51 8, JHT S99 1199 &
Ans, (¢):
{0.5625)0 = (0.9); T 21
(0.3)10 = (04BBB.....), Teid &1

Given below are two statements :
o 3t wew i o &

Statement I : When passive defence systems are
encouraged, a defensive response will resist
attitudinal change, if we apply the inoculation
theory of communication.

wAT (I): IR T0 domwr wowwr fagE
T wt A fiwa gean yueh @ e
fora W W, e i sfugea uitada
w1 gleRre S

Statement II : A strong dose of argument will
strengthen the receiver’s immune syste.

HAT (I): AT T W WAwat @t g
JuTrEt TSt Bt

In the light of the above statements, choose the

most appropriate answer from the options
given below:

SR wud & e W, =l fqu w feeeat

T T TE I W oG wfo:

(a) Both statement I and statement II are
correct/®aA [ 3T oA 11 3F1 &ed &1

(b) Both staternent I and statement II are correct
e | 3 Fo 11 & 319 2

36.

(c) Statement I is correct but statement II is
incorrect
T [ T €, Wfsh S [] 37 21

(d) Statement I 1s incomect but statement II is
correct /FI [ 39 &, A wom 11 7 )

Ans, (¢) : AR B0 HORO gRNY fagE & W S
fftrar geen womeht @t Siwnfed R T TR g
sifgda wiada = wfody w0t = oo T 2 5
TR A W W Fat H ARl Somelt wew o)

37 Fo 197 § A B 11 39 |

37. The Greek  eloquent
emphasised on the elements of:

A woew # fRR Tl W ad
Tezm e on?
(A} Delayed feedback
farmfiam iy (faoe wigdw)
(B) Lower class language/fe @i &t s
(C) Logos/gIetant (& )
(D) Ethos/Aiem=I] ( 3aid )
(E) Pathos/@%ur o= ( dafe)

Choose the correct answer from the
options given below :

=frer faw T freeedl ©f @ W Y T AT
e
(a) (A), (B) and (C) only/¥a (A), (B) 3 (C)
(b) (B), (C) and (D) only/ &34 (B), (C) 31 (D)
(c) (A), (B) and (D) only/ Fa (A), (B) 31K (D)
(d) (C), (D) and (E) only/ Ha (C), (D) 31 (E)
Ans, (d) : T apTEargef qREe fe FE | 99 fa
T o1
* PSR (AR
* TR (UT)
*  HEU a9 ()
38. T 3080 is divided among A, B and C so that half
of A's part, one third of B's part and one sixth

of C's part are equal, Then B’s part is
TN R A BARCH M TE ster I § o

A & 7R & amem, B % e = Tm-fEn

AGT C & Tl w1 gear 9 W #, @t B @

feem &

communication

(a) T 840 (b) T 960
(c) T 1080 (dy T 720
Ans. (a) : FEATEN -
1 1 1
=Ax—=Bx—=(Cx=-=k
2 3 6
_A_B_C_,
2 3 6
=ék=A=2k
2
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B
=Zk=B=3k
3

C
=>k=C=6k
6

3T A+B+C=3080

(a) 165 km/165 fepet
(b) 170 knmv/170 fapst
(c) 200 km/200 fFHt
(d) 164 km/164 fFdt

=2k + 3k + 6k = 3080 qﬂ
1k = 3080 Ans. () : 9= 0
a‘rBa;rkﬁ_zsf mwmmﬁnﬁq&q
39. If you wish to test whether population mean is g="1 4 365-n
lower than some hypothesized value you would 40 55
apply : _
N S :8=1]x+8(365 n)
TS WA, UAHEIATS WA § W Y 440
A a7 frafafga § @ R T @ Em w@? |5 Hnt2920-80= 3520
(a) one-tailed test/TH-Jod GO = 3n=3520-2920
(b} two-tailed test/@f-ﬂﬁ Tdieror n =200
(¢) half-tailed test/T3-qe TemT @ 29 g aw A b 365 — 200 =[163
(d) three-tailed test/f-T=5 wliarm 42. A’ sells an article to "B’ at 20% profit. 'B’ sells
Ans, (a) ; 9 SHEREHE oo, RGeS AT it to "C’ at 15% loss. If 'C’ pays ¥510 for it, then

F0 2 A EHTE W & weEm § §@ R o
b 31 9 Gl sl famwen % fag e S @
oot ws & uw At 2

40. Which of the following arguments is fallatious,
as per classical Indian school of logic, because
of the middle term being too narrow?

W TH = 7 % AR fratera o
¥ wA i gitw Awget § =R Twex uE arwm
wal /aren-sme §?
(a} All things are non-eternal because they are
knowable/@dt aed R-vnyw & s 3 39§
(b) The hill has fire because it is knowable
TR W 3§ s 97 39 &
(c} Sound is etemnal because it is audible
sty Wa & FfE 98 9= @
(d) Wherever there is fire, there is smoke
el sm% et gaf 2
Ans. (c) : S WA 8 Fih a8 ¥4 ? H99 ° g

Wﬁ%mquwww%lmm
¥ vads e =N 5 o 8 | g9 ST 9 EgT 2|

A1
“+1.

ﬂ pﬂfM.ll_l I.rii.vels Jua KIII IIl 0 Ill.'lll'& llI iwo
stages. In the first part of the journmey, he
travels by bus at the speed of 40 kmv/hour and
in the second part of the journey, he travels by
train at the speed of 55/hour. How much
distance did he travel by train?

W SR ISR A § We ¥ 365 Tt @ =mn
WRAT §| gOW aWr Fawn @y 40 e e @
E W AW G A AT § WA AT g
W 9% 55 TRt AR o T 9@ 29 ¥ A9 =
213897 T g TRt g w7

'Aj; purchased it at

*A' TRt o & BT @ 20% TN T S
B' 3 'C' Y 15% BT WX dwmr ool Cr
T 10 T 510 1 W e, aF ‘A T

e suat o =i ar?
(a) T 480
(b) T 490
(c) T 500
(d) T 520
Ans. (¢): A2 3B B—3,C
100220 _50-120% 1201515102
0 10
o UFT A 10% W = o = 10:);010:10
o C 4510 F whar &t A 4 510- 10 =[500]

43. In air pollution, oxides of nitrogen (NOx)

include :

Y yEw F, AL F AEEEH (NOy) H
e $:

(A) Nitric oxide/AT3(Ea NS

(B) Nitrous oxide/ATgeH ATFAES

(C) Di-nitrogen dioxide/AZE=IT SEANEAZS
(D) Di-nitrogen trioxide

(E) Di-nitrogen penta oxide

TE- TR 2T S
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Choose the correct answer from the
options given below :

= faw 7 fawedt & / Wl TR & WA
Wit
() (A), (B) and (C) only/&= (A), (B) 3R (C)
(b) (A)and (C) only/FT (A) 3R (C)
() (B), (C) and (DYF= (B), (C) 3K (D)
(d) {D) and (F) only/&ad (D) 3 (F)
Ans. (b) : SSAHYR a1 YN § ARSSA o IHNFEEey|
(NOy) # -Efes siidmEe iR TRdom % 3iieuEs
Tfiret 1 AIS2ie SRS Saia 31 SRl & Hei o
a1 Sfare S & Som @ oft 3fia g 1 98 AW
719 79 o 21
44, Arrange the following terms inm order of
increasing abstractness:

frfeitam wsi & Afdvear/engdar & s@d
w0 o st wi:

(A) Mobile Telephone/AIage TewHT

(B) Android Phone/Ugias W=

(C) Communication device/A=TT IUHTOT

(D) Telephone/@?ﬁ'ﬂ-ﬁﬂ'

Choose the correct answer from the
options given below :

o fau o faeut O A O ST W WA
Eﬁﬁﬂ'l!::
(a) (B), (A), (D), (C)
(c} (C), (D), (A). (B)
Ans, (a) : SYdA I agAT FH-
(i) Tgiae B
(ii) Terze e
(iii) SR
(iv) HER YT
45, "When competent readers encounter new
sentences in their native language, they read

them automatically” is an example of
learning?

"R W UTSH &k WA It QU Tl &

Y G A §, 91 F I 3UE AU g e §,

ug 90 T & STRAT 3tawur T 3w 37

(a) High-road transfer/3<I-H11 3iaoT

(b} Near transfer/fe imor

(¢} Low-road transfer/F-arf i

(d) Far transfer/X 33207
Ans. (¢) : 519 T U3 & HHT 3FH SIS 9T & AC
o A & df o 3% 94 39 UE ofd ¢ g8 -t
YR &AM F 0T 1 IR &1 ARH H U
feafy & zud fafy & g sit svam s f= onf
FLOT BT 2

(b) (B), (D}, (A), (C)
d) (©),(A), (B), ()

Read the following passage and answer the
questions that follow :

frmteritge iy @ waAgdw ufey o fou
Ty gyt % SR SR

Animal communicate with one anether in
many interesting ways. These may consist of
signs, gestures, looks, sounds, smells or even
light produced by he bedy. Song and dance are
the other means of communication.

When face with danger, animals warm others
using signals such as mock charges, grimaces
or sound. They also call their mates, inform
other members of the group about the source
of food, advertise territory and ‘teach’ the
voung the ways of the world. Baby birds call
their parents for help and attention and
demand food.

Uy TH-FE W o e At | wEem
A ¥ g WA, aa-dfmd we-d,
AT, T W Ieuw fopm U er o waeen oft
vrftrer #1 T 2T I WEE % ot "R #
W& U dae # W A O S gy uyeli @t
ugat, 7@ fag o smaw 39 wdT 9@
sAEt 3R $1 9 3 e weft @ oft stars
| &, TUE T T TIE W A * B &
aR # g w E, g-am % ar ¥ g §
R v wee W dEw ¥ o % e
‘Rram’ ) ot & S row wrar-fer @
W & e e §, S o vt iR
e § 3fir o= wima #)

Far from being a silent world, the ocean is a
noisy place. Fishes, molluscs, sea lions,
walruses, whales and dolphins chatter away in
the waters using a variety of sounds-whistles,
squeaks, clicks and groans which range from
low pitch to ultrasonic sounds beyond the
range of human hearing, Whales and dolphins
ae sometimes called the 'musicians of the sea’
as birds are of the sky.

TEERT 9= HAR 7§ O aret e
e ¥ wofral, wowurdt e, w@dh 9w,
aerd, 39 IR eiftwT ot § TE-aE @
aFa free €, SA-dE aemar, =fi-=i
T, fewfem 3R g e qa i
W W A U T w § W g %
T @ dwr 8 @ § v g e
I & uiftmen ¥, S ywr gor aiw
gifewa @ weft-wedft “wgg & wimeR ww
AT &1
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